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Question Number : 1 Question Id : 2752285024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is located in Telangana.

Options :

1. ¥ Golkonda fort

2. % Kangra fort

3. * Jaigarh fort

4. % Nahargarh fort

Question Number : 1 Question Id : 2752285024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



o HfRE R
Options :

1. ¢ AR IvST fbar

2. % HATST fbet

3. % S[OTg fvel

4. % rexe foan

Question Number : 2 Question Id : 2752285025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following monument(s) is/are located in Rajasthan?

I. Nahargarh fort
II. Kumbhalgarh fort

Options :

l. % Only I

2. % Only II

3. % Both I and I
4. #® Neither I nor II

Question Number : 2 Question Id : 2752285025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o I/ RS IoI= | fRUd 8/87

1. ATgTG fet
1. UG Tt
Options :

1. % FHadl

2. % had Il

3. ¢ QYT I gl
4. % 1B



Question Number : 3 Question Id : 2752285026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kamaicha is what type of instrument?
Options :

1. ¥ Tata

2. # Sushira

3. # Avanaddha

4. ¥ Ghana

Question Number : 3 Question Id : 2752285026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B [ UHR HT a1 82

Options :

1. ¥ dq

2. % R

3. % 3{d-q

4, % Y-

Question Number : 4 Question Id : 2752285027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of festival — state is correct?

I. Me-Dum-Me-Phi — Assam
II. Pongal — Goa

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand II



4. % Neither I nor 11

Question Number : 4 Question Id : 2752285027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR — 3T BT Rl & 3 & a1 3| I8l 32

I H-GH-U-B! - 3 gH
1. OITTQ - TTaT
Options :

1. Had |

2. % Had Il

3. % [ UGl

4. % qEIIATRIII

Question Number : 5 Question Id : 2752285028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the policy instrument of Reserve Bank of India?

I. Bank Rate
II. Marginal Standing Facility
II1. Reserve Deposit Ratio

Options :

l.¥ TandII

2. % Iland III
3. % Only I
4. % [, Il and III

Question Number : 5 Question Id : 2752285028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgffad & ¥ o I/ YR eid s o1 ifara Susr g/8?



GG

1. T QIR g
111. 3R STHT 3uTd
Options :

1. ¥ 1311

2. % 1 AYTIII

3. % Had I

4, % I dUT I

Question Number : 6 Question Id : 2752285029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What type of money, currency notes and coins are called?
Options :

1. # Legal tenders

2. ¥ Fiat money

3. % Broad money

4. ¥ Narrow money

Question Number : 6 Question Id : 2752285029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1, B Ale 3R 49w (69 THR & Hgad 62
Options :

1. % qy a1

2. ¢ BTGl Gal

3. % 9 gl

4. % Feprof gar

Question Number : 7 Question Id : 2752285030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the size of the 200 Rs. note of the Mahatma Gandhi (new) series?
Options :

1. % 66 mm x 146 mm

2. % 62 mm x 144 mm

3. % 66 mm x 144 mm

4. % 62 mm x 146 mm

Question Number : 7 Question Id : 2752285030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eI Tl $Raa () 200 STY & i 6T AT T 82
Options :

1. ¢ 66 Tt x 146 foe

2. % 62 fordt x 144 foe

3. % 66 ot x 144 fodt

4. % 62 oY x 146 foH

Question Number : 8 Question Id : 2752285031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the main item of capital receipts under capital budget?
Options :

1. % Provident funds

2. # National savings certificates

3. % Market borrowings

4. ¥ Cash grants

Question Number : 8 Question Id : 2752285031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % yfasy {4

2. % P SId YHTUTO

3. % §6IR IUR

4, ¢ 9P I

Question Number : 9 Question Id : 2752285032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct expression of Currency Deposit Ratio?
Options :

1. ¥ Currency held by the public / Net demand deposits held by commercial banks
2. % Currency held by the public + Net demand deposits held by commercial banks
3. # Currency held by the government / Total deposits

4. % Currency held by the government + Total deposits

Question Number : 9 Question Id : 2752285032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiRad o 1 91 goT ST 3uTd &1 gl ol 82

Options :

1. ¥ ST & U &1 G/ AT debl & U &1 g [T ol
2. % ST & U DI G&T + A0 D Sebl &b U &1 g AT of T
3. % IPR gGRITW! T3 &1/ H o T

4. % WRDR GRI W TS T + Hl oAl

Question Number : 10 Question Id : 2752285033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who did the alpha particle scattering experiment?



Options :

1. #* Thomson
2. # Goldstein
3. % Rutherford
4. # Bohr

Question Number : 10 Question Id : 2752285033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T HUT T YebTuTd T fobe faam umo
Options :

1. % CIHEA

2. % T

3. ¥ IBIS

4. % §R

Question Number : 11 Question Id : 2752285034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a property of a metal?

I. Lustrous
II. Good conductor of heat
I1I. Hard

Options :

1. % Iand II

2. % Il and III
3. % Tand III

4. 1,11 and 111

Question Number : 11 Question Id : 2752285034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafeiad o & & 9T 1g &1 U 07 82

L. IHDIA

I1. 31 & JaTddh
1. HER

Options :

1. % 14Ul

2. % IIdYrIn
3. % [dYUTII
4, 1, I dYTIII

Question Number : 12 Question Id : 2752285035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?

I. Atrium — Upper chambers of heart
II. Ventricles — Lower chambers of heart

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 12 Question Id : 2752285035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofefad # 3 &1 91 gm I8l 82
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Options :



1. % FHadl
2. % HAd I
3. ¢ [ QYT I gl
4. % 1B

Question Number : 13 Question Id : 2752285036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct?

I. number of moles = given mass / molar mass
II. Avogadro number = 6.022 x 1023

Options :

1. % Only I

2. % Only I

3. ¥ Both I and 11

4. % Neither I nor I

Question Number : 13 Question Id : 2752285036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 1 a1 adt 82

1. Hicll ot AT = o a1 ogwe / HieR SogHH
I1. 3TANTTET WA = 6.022 x 1023

Options :

1. % Had 1

2. % Had Il

3. [ QYT ISl

4. % GBI

Question Number : 14 Question Id : 2752285037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India shares its land boundaries with Pakistan and Afghanistan in the
Options :

1. # East

2. ¥ North west

3. % North east

4. # South east

Question Number : 14 Question Id : 2752285037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR SO YT A Ui SR SRR & 9ig el g |
Options :

1. % gd

2. ¥ IWUEFA

3. % I UG

4. % gfeorgd

Question Number : 15 Question Id : 2752285038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a saltwater lake?
Options :

1. ¥ Sambar

2. % Wular

3. ¥ Bhimtal

4. ¥ Kolleru

Question Number : 15 Question Id : 2752285038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faferiad # 9 < oid arelt 3 i I 82
Options :

1. ¥ g

2. % gR

3. % HiHdrd

4. % Pl

Question Number : 16 Question Id : 2752285039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?

I. Thermosphere — Helps in radio waves transmission.
I1. Mesosphere — Meteoroids burn up in this layer.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 16 Question Id : 2752285039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o A P T T 9e 82

I. STe] A ed — S0 ¥R # Hag drdl g
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Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. % qEIIATR I




Question Number : 17 Question Id : 2752285040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of tree — forest is correct?

I. Temperate evergreen forest — eucalyptus
II. Temperate deciduous forest — pine

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 17 Question Id : 2752285040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3¢ — 9 &1 FEfafad # 9 & 91 g el 82

1. 0T FETEER o - W
11. RitqreT gofurdt o - <t

Options :

1. ¥ FHad |
2. % Had Il
3. % [ UGl
4. % qGIIATRIII

Question Number : 18 Question Id : 2752285041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following country is touched by Sahara desert?

I. Chad



II. Egypt
III. Algeria

Options :

1. ® Tand II

2. % Il and III
3. % TandIII

4. % 1, 1I and III

Question Number : 18 Question Id : 2752285041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o 91 ¢x IeRT IR T Wl Har g2

1918
11, o
111, 3{eoIr

Options :

1. % 14Ul

2. % IIdYTIII
3. % 1TdYT I
4, 1, 11 dYTIII

Question Number : 19 Question Id : 2752285042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the incident of Chauri Chaura take place?
Options :

1. % 1923

2. %1920

3.9 1922

4. % 1919



Question Number : 19 Question Id : 2752285042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARY-IRT BT ge1 forg I 7 g5 oo
Options :

1. % 1923

2. % 1920

3.9 1922

4. % 1919

Question Number : 20 Question Id : 2752285043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding “Kitab-Ul-Hind” is/are correct?

L. It was written in Arabic language.
I1. It was written by Khizr Khan.

Options :

1. ¥ Only I

2. % Only I

3. % BothIandII
4. % Neither I nor II

Question Number : 20 Question Id : 2752285043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRd & 9 oH /A $y fhde-3a-te & el A v 2/

1. T8 3R&T yT  foret 115 ot
11. I8 a9 W g1 fordt 718
Options :

1. ¥ FHad |

2. % Had Il



3. % 1dUT I Sl
4. % qrEIIATBIII

General Awareness2

Group Number : 2

Group Id : 275228164
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness2

Section Id : 275228266
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228319
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 2752285044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ruled in Delhi during 1175-1192.
Options :
1. ¥ Prithviraj Chauhan
2. # Qutbuddin Aybak
3. ¥ Anangapala
4. % Jalaluddin Khalji

Question Number : 21 Question Id : 2752285044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et 1175-1192 9% A fobar T
Options :

1. ¢ Q&R 9gH

2. ¥ $EIe I YD

3. % 3FTUTA

4. % AR fRacrl

Question Number : 22 Question Id : 2752285045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair(s) regarding Mughal ruler and their time period is/are correct?

I. Akbar — 1556-1605
II. Shah Jahan — 1627-1658

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 22 Question Id : 2752285045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 & 978 g Jd AN 3R 396 A S & 9o H Tal 8/8?

[. 3{PdR — 1556-1605
I1. XM Slel — 1627-1658
Options :

1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % 1B 1

Question Number : 23 Question Id : 2752285046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Aurangzeb died in 1705.
I1. First English factory was set up on banks of Hugli in 1651.

Options :

1. * Only I

2.9 Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 23 Question Id : 2752285046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFffed & ¥ o9 91 Hy= 981 82

I. 3o B 5 1705 H g5 |
I1. Ugall SIeT=T thac §PTelt & o WR 1651 § &+t 71t <t
Options :

1. ® Had 1



2. ¥ Had Il
3. % 1 qYT I aHl
4. % BB I

Question Number : 24 Question Id : 2752285047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has written the book ““You are Born to Blossom™?
Options :

1. ¥ A.PJ. Abdul Kalam

2. # V.V. Giri

3. ¥ Rajiv Gandhi

4. # P.V. Narasimha Rao

Question Number : 24 Question Id : 2752285047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“g 3R 1 ¢ sAgH” G fope foredl 82
Options :

1. ¢ TUL . 3fegd Ha™

2. % didt Rk

3. % Toftq et

4. % U1 . RR¥1 @

Question Number : 25 Question Id : 2752285048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is NOT one of winners of Padma Vibhushan 2021?
Options :

1. # Belle Monappa Hegde

2. % Tarun Gogoi



3. # Maulana Wahiduddin Khan
4. % Sudarshan Sahoo

Question Number : 25 Question Id : 2752285048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRad # I &1 U faym 2021 & T UTadhdi g 82
Options :

1. % o] HHW gTs

2. ¥ TSV TN

Question Number : 26 Question Id : 2752285049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country was top ranked in global energy transition index released in April 2021?
Options :

1. # Norway

2. % Sweden

3. % Denmark

4. ¥ Poland

Question Number : 26 Question Id : 2752285049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3O 2021 T SR} 3T TS TSN <o Soa H UYH R TR S 1 - Y12
Options :

1. % 41d

2. ¢ HWied

3. % SHID




4. % Uidis

Question Number : 27 Question Id : 2752285050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Israel’s government chose to provide cloud services for the country’s public sector and military.
Options :

1. % AWS and Microsoft

2. % Yahoo and AWS

3. % AWS and Google

4. ¥ Microsoft and Google

Question Number : 27 Question Id : 2752285050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SORTZd TR A DI G P Aol & TUT I DI TS FaTd &+ & e I 5|
Options :

1. ® U SdeY, Y. IUT AR U

2. % T qYUT U ST,

3. ¢ U ST U, aUT [T

4. % TRPHNIGE U [T

Question Number : 28 Question Id : 2752285051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states, India’s first digital university was inaugurated?
Options :

1. # Punjab

2. ¥ Kerala

3. # Maharashtra

4. % Jharkhand



Question Number : 28 Question Id : 2752285051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed & ¥ yRd & 6y Isy 1, ugd fesfied fayfaeme o1 Igure gai g2
Options :

1. % G99

2. ¥ B

3. % HeRTY

4. % PRES

Question Number : 29 Question Id : 2752285052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been elected as the new chairman of ICC in November 20207
Options :

1. ¥ Greg Barclay

2. # Jeremy Choy

3. % Henry Moniz

4. # Andy Jassy

Question Number : 29 Question Id : 2752285052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TFaeR 2020 T fordr 4TS, T, BT 41 FRTA I TAT1 72
Options :

1. ¢ Y drebdl

2. % SRATAY

3. % gRI A

4. % TS ol



Question Number : 30 Question Id : 2752285053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prime Minister Narendra Modi unveiled ‘Statue of Peace’ to mark 151st birth anniversary of
Options :

1. # Nana Sahib

2. # Subhash Chandra Bose

3. ¥ Madan Mohan Malviya

4. ¥ Jainacharya Vijay Vallabh

Question Number : 30 Question Id : 2752285053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy RE WY @1 151 df i R R 3T fORp T 1R foan
Options :

1. % 91 ATed

2. % UV I &Y

3. % T Higd HIAaan

4. ¢ ST faog aeay

Question Number : 31 Question Id : 2752285054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state of India has become the first state to present the paperless budget for financial year 2021-22?
Options :

1. # Delhi

2. ®% Gujarat

3. % Uttar Pradesh

4. % Karnataka

Question Number : 31 Question Id : 2752285054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

HRA BT S A1 57 foxitg a9 2021-22 F TolT TRy Foie UKd H=A aTel Tga Iod &+ 147 82
Options :

1. % oot

2. % TORId

3. ¥ FW UK

4. ® PHlcH

Question Number : 32 Question Id : 2752285055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related to name and territory of the union?
Options :

1. %5

2.¥ 1

3.%9

4. % 7

Question Number : 32 Question Id : 2752285055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT TAU™ & S 1 3iJase 9y & =11 3R a8 ¥ Jaferd g2
Options :

1. %5

2.9¥ 1

3.%9

4. % 7

Question Number : 33 Question Id : 2752285056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which article of Indian constitution is related to directive principles of state policy?



Options :
1. = I
2.%V
3.¢¥1V
4. % VI

Question Number : 33 Question Id : 2752285056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ST B DI A1 U A7 B i & e I 3 Jaifdd g2
Options :

1. %= III

2.%V

3.¥1V

4. % VI

Question Number : 34 Question Id : 2752285057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which amendment of Indian constitution added part IX to Indian constitution?
Options :

1. * 68

2. % 51

3. % 81

4. ¥ 73

Question Number : 34 Question Id : 2752285057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RO GfAHT & I T INYT ¥ YR Sfaem & 4Rt 1x sivs fear ur

Options :



1. * 68
2. % 51
3. % 81
4.9 73

Question Number : 35 Question Id : 2752285058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related to promotion of international peace and security?
Options :

1. ¥ 51

2. % 59

3. % 39

4. % 8

Question Number : 35 Question Id : 2752285058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TAT BT B AT Sase SRIPH ify 3R Grem Y oifigfg & el 39
Options :

1. ¥ 51

2. % 59

3. % 39

4. % 8

Question Number : 36 Question Id : 2752285059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a team sport?

I. Cricket
II. Football



Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 36 Question Id : 2752285059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e § ¥ o I Te dH A B2

1. fhoe

1L pesid
Options :

1. % Had 1
2. % HAd Il
3. [ QYT ISl
4. % AT I

Question Number : 37 Question Id : 2752285060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country hosted the 2018 FIH Womens World Cup?
Options :

1. # India

2. % England

3. ¥ Australia

4. ¥ Spain

Question Number : 37 Question Id : 2752285060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



2018 T, 313U, Afgdl fay &U ot Aar! fbg <= 4 &1 ot
Options :

1. % YRd

2. ¢3S

3. % 3fieferan

4. % WH

Question Number : 38 Question Id : 2752285061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who won the womens single title at Australian Open 20217?
Options :

1. * Jennifer Brady

2. % Naomi Osaka

3. # Serena Williams

4. % Venus Williams

Question Number : 38 Question Id : 2752285061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 3R U BT Higall bl b AT feba i
Options :

1. % SR et

2. ¢ TSI STDT

3. % IR faferamy

4. % fo73 faferoe

Question Number : 39 Question Id : 2752285062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of sportsperson — sports is correct?



I. Monika seles — Tennis
II. Sophie Devine — Cricket

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 39 Question Id : 2752285062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEemet - T o1 Fafifed & S o a1 gm I8t 32
1. A Jo - e

11. 9ot f&ars - fobbe
Options :

1. % Had 1
2. % HAd Il
3. [ QYT ISl
4. % qEIIATE I

Question Number : 40 Question Id : 2752285063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country will host the 2023 FIFA Women’s World Cup?
Options :

1. ¥ Australia and New Zealand

2. # Spain and Portugal

3. % South Africa

4. ¥ USA and Mexico

Question Number : 40 Question Id : 2752285063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

2023 fOp T ARl A%y HU Bt ASET B T Y B2
Options :

1. ¢ 3Rforr auT eiicls

2. % W YT Yo

3. % TI&IUT 37hiehT

4. % JUY.U U AfRID!

General Abilityl
Group Number : 3
Group Id : 275228165
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Abilityl
Section Id : 275228267
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1



Sub-Section Id : 275228320
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 2752285064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Cbnrmli
2. Cbopvr

3. Cbrheed
4. Cbtwpgp
5. Cbrnwrs

Options :

1. % 12345
2. % 13254
3. % 12354
4. % 13245

Question Number : 41 Question Id : 2752285064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeTRad el 1 AsGhIN H S dTdl hH & IR ferd |

1. Cbnrmli
2. Cbopvr

3. Cbrheed
4. Cbtwpgp
5. Cbrnwrs

Options :

1. % 12345
2. % 13254
3.9 12354
4. % 13245




Question Number : 42 Question Id : 2752285065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

LF18, PZ42, TT40, ?, BH10
Options :

1. ¥ XN38

2. % XM37

3. % X039

4. % XL36

Question Number : 42 Question Id : 2752285065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3rgepH foran e B, R 9 U Ue g 71| o T e & @ 9 O Reved IR, o sgmm A g a

LF18, PZ42, TT40, ?, BH10
Options :

1. ¥ XN38

2. % XM37

3. % X039

4. % XL36

Question Number : 43 Question Id : 2752285066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

YDXP, VXGB, SRPN, PLYZ, ?
Options :
1. * NGIK



2. ¥ MFHL
3. # MFIK
4. * NGHL

Question Number : 43 Question Id : 2752285066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 feran T B, R A U Ue g 21w T et A & o8 U8 Rehed 9, S g B R AR

YDXP, VXGB, SRPN, PLYZ, ?
Options :

1. * NGIK

2. ¥ MFHL

3. % MFIK

4. % NGHL

Question Number : 44 Question Id : 2752285067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. ® JLN

2. % 0QS

3. % UWY

4, ¥ KMP

Question Number : 44 Question Id : 2752285067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy ¥ 3w e fawedl & I fawm sier/siert &) gfFu|
Options :

1. % JLN



2. % 0QS
3. % UWY
4. ¥ KMP

Question Number : 45 Question Id : 2752285068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four pairs are given. The letters on left side of () is related to the letters on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. ®* TX-CG
2. % CN-MX
3. % FL-0OU
4.+ JT-GR

Question Number : 45 Question Id : 2752285068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R RuT Uy H IR gE T I () % IRt 3R ol T 31eR () b <l SR R TR ereR | fopdt Ioh/Mam/Adey & defa g1 i 3
T qoh/FaH/eY & SHTYR IR 99 § | fou 7 fawent # 9 favw &1 g

Options :

1. ® TX-CG

2. % CN-MX

3. % FL-0OU

4. JT - GR

Question Number : 46 Question Id : 2752285069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :



1. ®* LNBW — SGHS
2. # XRJV -ROLE
3. ¥ DTUA - WZNK
4. % LMEC - XJGS

Question Number : 46 Question Id : 2752285069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR fermuuy ¥ IR seR T Ru M B () & Tt 3R o T 3iaR () F ol SR fad M 31er | fopdt b/ Mow ey | Tefia g1 dF
I U don/aH/AeY & SMUR IR 97 g | 738 T fawed # ¥ faww &1 gf-u|

Options :

1. ®# LNBW — SGHS

2. % XRJV —ROLE

3. % DTUA — WZNK

4.+ LMEC — XJGS

Question Number : 47 Question Id : 2752285070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

Write : Pen :: Dig : ?
Options :

1. ¥ Spade

2. % Worker

3. % Sand

4. # Saw

Question Number : 47 Question Id : 2752285070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o fau e fawedt & ¥ Tefid Wsa! &1 g



Question Number : 48 Question Id : 2752285071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

APQ : LNC :: JKF : ?
Options :

1. ¥ AHM

2. % AIM

3. ¥ AIL

4. % AHL

Question Number : 48 Question Id : 2752285071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRad oy & fou 7o fawedt & @ Sefia siert &1 gfu|

APQ : LNC :: JKF : ?
Options :

1. ¥ AHM

2. % AIM

3. AIL

4. % AHL



Question Number : 49 Question Id : 2752285072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

DRWA : GPXW :: ?
Options :

1. # AKJC : ICQS
2. % RXLB : IEDK
3. % ANPT : YITT
4. ¥ FRAC : ITXY

Question Number : 49 Question Id : 2752285072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRafaRad vy @ fau e faswedl B 9 Hefdd 3ieR g &1 gHu|

DRWA : GPXW :: ?
Options :

1. % AKJC:ICQS
2. % RXLB : IEDK
3. % ANPT : YITT
4. ¥ FRAC : ITXY

Question Number : 50 Question Id : 2752285073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘FERRARI’ is written as ‘IRARREF’. What is the code for ‘PORSHE’ in that code language?
Options :

1. % ESHROP

2. ®* EHRSOP

3. ¥ EHSROP

4. % EHSRPO



Question Number : 50 Question Id : 2752285073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfR1E BIe UTWI &, FERRARD ®I ‘IRARREF’ el STl ¢ | §9 1S TN H ‘PORSHE® $1 HIS HT 57
Options :

1. # ESHROP

2. % EHRSOP

3. ¥ EHSROP

4. % EHSRPO

Question Number : 51 Question Id : 2752285074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘LIMBER’ is written as ‘“TAUTMJ’. What is the code for ‘HARLOT”’ in that code language?
Options :

1. ¥ PSZDWL

2. % PSZDLW

3. % PSDZWL

4. % PSDZLW

Question Number : 51 Question Id : 2752285074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfRy &I W & LIMBER’ & “TAUTMY’ foraT SITaT 81 39 1S HTST H ‘HARLOT’ 1 HIg T 82
Options :

1. ¥ PSZDWL

2. ¥ PSZDLW

3. ¥ PSDZWL

4. % PSDZLW

Question Number : 52 Question Id : 2752285075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘PUNKY" is written as ‘82°, ‘EPHAH’ is written as ‘33°. What is the code for ‘KOBUS’ in that code language?
Options :

1. * 68

2.9 63

3. % 67

4. % 70

Question Number : 52 Question Id : 2752285075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfR1E Ble YT H, ‘PUNKY” BT “82° foRaT SITdT 8, ‘EPHAH i *33° Tl STl 8| §9 IS W H ‘KOBUS® 1 HIS &1 57
Options :

1. * 68

2.9 63

3. % 67

4. % 70

Question Number : 53 Question Id : 2752285076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘Those are intelligent creatures’ is written as ‘st en gx up’, ‘Are we still running’ is written as ‘en el Ix gz’, “Still work
need to be done’ is written as ‘Ix kt dq tp bc ef’. What is the code for ‘Are still’ in that code language?

Options :
1. * stbc
2. % up fp
3. ® gxdq
4. ¥ enlx

Question Number : 53 Question Id : 2752285076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T fafRIy e U H, “Those are intelligent creatures’ DI “sten gx up’ foran GH?IT%, ‘Are we still running’ Dl ‘en el Ix gz’ ferar Siran %, “Still
work need to be done’ &I “Ix kt dq tp be ef” foran star %I BRI PIS HINT H “Are still” BT HIS T %‘?

Options :
1. #* stbc
2. % up fp
3. % gxdq
4, ¥ en Ix

Question Number : 54 Question Id : 2752285077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven boys P, Q, R, S, T, V and W are sitting around a circular table facing towards the centre (not necessarily in the same order). V is second to
the left of P. W is second to the left of V. T is third to the right of Q. T is not the immediate neighbour of V. S is third to the right of R. Who is
third to the right of V?

Options :
1. ¥ R
2.% T
3.% P
4. % S

Question Number : 54 Question Id : 2752285077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT TASH P, Q, R, S, T, V AU W % Bl 3R T HXh U JATHR ol & 36-716 96 BU § (SRe] Tal bl S/ HH A BN V, P b & 3R
TRVYARGI W, VS TR RGN VFAREI T, Q P il 3R TR VMW I T, V HI Achead ISt 78I 81 S, R & T 3R TR
RF R 1 VP gl 3R R R R B 82

Options :

l.¥ R

2. % T

3.%p

4. % S




Question Number : 55 Question Id : 2752285078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thickness of six windows W1, W2, W3, W4, W5 and W6 is compared. Thickness of W2 and W3 is same. W4 is more thicker than W1 but less
thicker than W6. Only three windows are more thicker than W2. If W5 is less thicker than W3, then which of the following sequence(s) is/are
correct?

. W3I=W2<WI<W4<W6<W5
IL. WS <W3=W2<WI <W4<W6

Options :

1. % Only I

2.% Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 55 Question Id : 2752285078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

38 fasfdmal Wi, w2, W3, W4, W5 9UT W6 &1 HIeTs Bt qa-T &I T g1 W2 9UT W3 &1 HicTs 99 8 | w4, W1 ¥ 31fies AIct g dfd we
ﬁwnﬁﬁélm?ﬁq@@mm@r&mnﬁ%mﬁws w3 A B A B, O Fafiiea & @ o WA ey 981 8122

[ W3=W2<WI<W4<W6<W5
II. W5 <W3=W2<WI <W4<W6

Options :

1. % Had 1
2. ¥ HAd Il
3. % [ QYT gHl
4. % I I

Question Number : 56 Question Id : 2752285079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Eight friends F1, F2, F3, F4, F5, F6, F7 and F8 are sitting around a circular table facing opposite to the centre (not necessarily in the same order).



F1 is second to the right of F4. F4 is third to the right of F5. F3 is third to the left of F7. F7 is not the immediate neighbour of F5. F8 is third to
the left of F2. F2 is second to the left of F7.

Which of the following statement(s) is/are correct?
I. F7 is to the immediate right of F4.
I1. F6 is third to the right of F4.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 56 Question Id : 2752285079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

316 B F1, F2, F3, F4, F5, F6, F7 TUT F8 %% o [AURId W $Xdh Ud GuTdR Hol & 36-116 96 gU § (o] -Tol &1 54t HhH A 81)| F1, F4
& ST 3R G RIM W g F4, F5 & T 3R TR ™M W g1 F3, F7 & S 3R R ™M R g1 F7, F5 BT Hoead IS -Tg! g | F8, F2
& T SR M WM R B F2, F7 P T iR R WH R 8|

Prffad & 9 o 918 $uT g8l 3787
I. F7, F4 % q¥d <l 3R B
IL. F6, F4 & G 3R iR WM R B

Options :

1. % Had 1

2. % Had Il

3. ¢ 1 UGl
4. % GBI

Question Number : 57 Question Id : 2752285080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From four women W1, W2, W3 and W4 and three men M1, M2 and M3 four persons have to be selected. If M3 is selected, then W4 should be
selected. If W1 is selected, then M2 should be selected. If W3 is selected, then W1 should be selected. If W2 is selected, then neither M1 nor W4
can be selected. Who among the following may be selected?



Options :

1. ¥ M2, M3, W1 and W3
2. % M1, M2, W1 and W4
3. # M1, M2, W2 and W3
4. % M1, M2, W1 and W2

Question Number : 57 Question Id : 2752285080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR ARG W1, W2, W3 TUT W4 TAT i T8 M1, M2 TUT M3 B I IR il &1 A1 I § | i M3 &1 T Sl &, df W4 &1 g1
ST @MY | afe W1 &1 AT ST 8, A M2 1 AT o aTie €| afG W3 &1 g1 SffdT 6, df W1 &1 AT o aTie €| afe W2 &1 g1 ol &, ot
T8 M1 AT S W4 B AT S Il ¢ | FRfIRaa & § fo5=g g1 o Taan &2

Options :

1. % M2, M3, W1 dUT W3

2.% M1, M2, W1 ddl w4

3. % M1, M2, W2 dT W3

4. % M1, M2, W1 ddT w2

Question Number : 58 Question Id : 2752285081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven friends P, Q, R, S, T, U and V are sitting around a circular table facing towards the centre (not necessarily in the same order). There are
three males and four females. No two males are immediate neighbours. There are two married couple. Q and R is not a married couple. T is
sitting third to the right of his wife. More than one friend is sitting between P and U on either sides of P. R sits third to the right of P. One friend is
sitting between R and S. R is the immediate neighbour of T. No married couple sits together. V is sitting third to the left of S. Which of the
following statement is correct?

Options :

1. % R is the immediate neighbour of U and S is the wife of Q.

2. % Uand V are the married couple and R is the wife of T.

3. % S and Q are the immediate neighbours of P and S is a female.

4. % Only one friend is sitting between P and U.



Question Number : 58 Question Id : 2752285081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I AP, Q, R, S, T, U 3R V T JATHR A & IRI 3R 6% DI 3R TG HIb 98 & (SR ol 1 341 HH W) | 90 o & 3R IR
Afgad g1 ®rs U 3 goy Adhedd UsKRi 78t 1 &Y faanfed SIS §1 Q 3R R U faarfed SieT -6l /1 T 31U+ Uell & &1 & R I |
IBTBI PR UG TTP H I SR TH J G BT IS TIR, PHF T A TR M R 93T 8| R 3R S & ST UH A BTG I R, T oI
Fpcan usit g1 Pis it arfed SieT T Iy Tef doar g1 v, s & 91 A dieR WH WR 961 8 | FHafeiad # 9 &1 91 oy= I8t 82
Options :

. % R, UBI Adcar UsSIt g dUTS, Q & Uat g

2. % UdUTV U faaifgd ST 8 dUTR, T 31 Ul g

3.¢ STUTQ, P& Mbedd USRI & auT s T Al g

4. % p YU S Y Had U [ Jo1 g3 g |

Question Number : 59 Question Id : 2752285082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some G are T.
II.NoSisT.

Conclusions:
I. Some S are G.
II.NoTis G.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 59 Question Id : 2752285082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T feu T Uy H 53 HUT 3R I dIe 3 HYA W 3NURd $3 Fpy 3T 7w 7| fou T e &1 I8 7E, TR S 9 91d et
I a8 ai e ue SR iR Feifea &% {3 3T e o 3 fed, 3T T w2 & 3R W gfaaed g

hY-: %
LPS G, TR
1L s, TR I

feem: ;

L. S,Gol

H.%%lﬁT,GH%’f%l

Options :

1. % Had FHY | SFIER0T el §

2. % Had BN I1 SR Hl §

3. % G FIShY [ T 11 SFJIR0T 6%l &
4.« I3 U FIsh Y SR T8 HraT §

Question Number : 60 Question Id : 2752285083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some C are L.
II. No A are C.

Conclusions:
I. Some A are C.
II. Some L are not A.

Options :
1. # Only conclusion I follows

2. % Only conclusion II follows



3. #* Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 60 Question Id : 2752285083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T f3u U Uy H 8 U 3R I 918 31 HUHI IR YR & 56y 3T T4 § | 3T T F2= &1 981 aM, 918 S8 Qg J1d 9
3 frzrar 811t e o ofk fisR el &% i fou o o1 @ s, fou U sy & smyR &R gfaawia g

DHY: %
L$SC, LTI
ILPIs WA, TR

fsem:

L P A, C3l

LS L, Aol gl

Options :

1. % $Had [T5HY [ 3RV HT &

2. ¢ Had (BN 11 SR Rl §

3. % GHI FSHY 1 TT 11 SR H-d &
4. % B1g Wi Fepy SrERUr el BT @

General Ability2

Group Number : 4

Group Id : 275228166
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



General Ability2

Section Id : 275228268
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228321
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 2752285084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All M are B.
II. No Y is M.

Conclusions:

I. Some B are not Y.
II. Some M are not Y.
III. Some B are M.

Options :
1. # Both conclusions II and III follows
2. % Only conclusion I follows

3. % Both conclusions I and II follows



4. « All conclusion follows

Question Number : 61 Question Id : 2752285084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T f3u U Uy H 8 U 3R I 918 31 HUHI IR YR & 56y 3T T4 § | 3T T F2= &1 981 aM, 918 S8 Qg J1d 9
3 frzrar 811t e o ofk fisR el &% i fou o o1 @ s, fou U sy & smyR &R gfaawia g

DHY:
L. 94t M, BRI

1Ly, M T8 21

fsen:

L$SB,Y TRl gl

LS M, Y T8 gl

IIl. $S B, M g |

Options :

1. % QIFI FTSBY 11 T 111 S8R0 A &
2. % Had fAHY [ 3O Bl §

3. % G (IShY [ T 11 SFJIR0T 6’ &
4.« 1} Fp s SFRRUT %l §

Question Number : 62 Question Id : 2752285085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All lamp are good.
II. No bad is lamp.

Conclusions:
I. No lamp is bad.



II. All good are lamp.
II1. All good are bad.

Options :

1. % Only conclusion II follows
2. % Neither conclusion follows
3. % Only conclusion I follows

4. % Both conclusions I and III follows

Question Number : 62 Question Id : 2752285085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy & 8 U 3R 3% 918 31 HUHI IR YN & 56y 3T T4 § | 3T T =1 &1 91 A, 918 S8 QEr I 9
3 oz 81t e o ofk fsR fReifa & 6 fou o o O s, fou e syl & SR &R gfaasa g

hY:

1. i 7, S g |

1L o g, AT T B
frep:

1. ®ig vt du, T |
1. g4t 313, T B

1. gt ory, R
Options :

1. % Had (5B [1 SR Rl §
2. % B +ff Freepy SrgERU TS BRaT R
3. ¢ Had fpY [ SFaR BT §
4. % Gl FTSHY 1 T I11 SFTAR0T %l &

Question Number : 63 Question Id : 2752285086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given



conclusion logically follows the given statements.

Statements:
I. All B are N.
II. No N are H.

Conclusions:

I. All N are B.

II. Some N are B.
III. All H are B.

Options :

1. # Both conclusions I and II follows
2. % Only conclusion III follows

3. % Only conclusion II follows

4. % Neither conclusion follows

Question Number : 63 Question Id : 2752285086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy H 8 U 3R 3% 918 31 HUHI IR SAUNG & 56y 3T T4 § | 3T T 2= &1 981 A, 918 S8 Qg 1 9
3 forzrar 81t e o ofik fisR fReifa & i fou o o O s, fou U syl & smyR &R gfaaa g

hY:
L. 94 B, N Bl

1. ®% N, HTS B

fm:

L3N, BBl

. $FBN, B G|

L 3t 1, B g

Options :

1. % G fISem T 1 T 11 SFIERUT el &
2. % Had 5HY 111 3IERU HT §

3. ¢ Had By 11 SRV HRAT §

4. % DIz W} FIoHY SR 8 FRT §




Question Number : 64 Question Id : 2752285087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

3
6
4
14 | 61

b2 | 1| O

el [ =l R | GO

Options :
1. % 18
2.9 17
3. % 12
4. % 10

Question Number : 64 Question Id : 2752285087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad uy o fau e faemedl & 9 uy g (2) o RIM WR 3 dTell WA i g

5
6
4
14 | 61

| =1 O

e [ ]| R | GO

Options :
1. # 18
2.% 17
3. % 12
4. % 10



Question Number : 65 Question Id : 2752285088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

14:225::13:7
Options :
1. ¥ 196
2. % 198
3. %192
4. % 194

Question Number : 65 Question Id : 2752285088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o fau e fasedt & 4 defdq e &1 gt
14:225::13:7

Options :

1. ¥ 196

2. % 198

3. %192

4. % 194

Question Number : 66 Question Id : 2752285089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If “+> means ‘—’, ‘~” means ‘X’, ‘x’ means ‘+’ and ‘=’ means ‘+’°, then which of the following equation is false?

Options :

1.¥ 85+ 17-28<45-7+4+28

2. % 61 x23-87+29>27+8+24

3.% 08 x81+9<16+7—-18x22



4, % 31+5-24+12<84+28-380

Question Number : 66 Question Id : 2752285089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe <+ BT >, BT 3 2, x> BT 3 = qUT -+ BT 37+ B, A FAfIRIT H F B 91 FHbR07 717 52
Options :

1.¥ 85+ 17-28<45-7+4+28

2. % 61 x23-87+29>27+8+24

3.% 98 x81+9<16+7-18x22

4, % 31 +5-24+12<84+28-80

Question Number : 67 Question Id : 2752285090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

7,7,?7,21,52.5,157.5
Options :
1. # 125
2.%10.5
3. % 145
4. % 16.5

Question Number : 67 Question Id : 2752285090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o < 13 saar & ¥ g 3f 1 i |

7,7,?7,21,52.5,157.5
Options :
1. % 125
2.9 10.5




3. % 145
4. % 16.5

Question Number : 68 Question Id : 2752285091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Male, Teacher, Human
Options :

(©)o

2. %
3. %
4, %

Question Number : 68 Question Id : 2752285091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 3R\ AT S i U U ol & o9 & ddY &1 et g Hrar g



U=y, YU, HIY
Options :

2. %
3. %
4, %

Question Number : 69 Question Id : 2752285092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many tyre are not odd?



Options :
1. % 12
2. % 14
3.%9
4.v 17

Question Number : 69 Question Id : 2752285092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o erR faww 781 82

Options :
1. % 12
2. % 14



3.%9
4.4 17

Question Number : 70 Question Id : 2752285093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many cube are neither triangle nor square?

Square

: 2
8 4
3
7 N
Triangle 6 Cube
Options :
1.¥6
2. %10
3.% 7
4. %5

Question Number : 70 Question Id : 2752285093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fpa A ByS g e g2



7l
ELE

=

Options :
1.¥6
2. %10
3. % 7
4. % 5

Question Number : 71 Question Id : 2752285094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are correct?

Phone
2\
ﬂ324

3

7 el 3]

Pencil
~’/LHHCxﬂ0ur

I. Number of colour which are phone, are 4.
II. Number of pencil which are not phone, are 8.

Options :




1. % Only I

2.9 Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 71 Question Id : 2752285094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T 3 3@ F 3MUR R, Rl # ¥ o9 918 Sy I8 8782

£324

FAEY

eﬁa/km

LI TN BT, B T4 5

11. 98 URYa St B9 61 ], Pt TBI 8 |
Options :

1. % PHadl

2. ¥ Had Il

3. % [qUT el

4. % 1B

Question Number : 72 Question Id : 2752285095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are correct?



I. Total number of rat are 24.
II. Number of dogs which are not rat are 17.

Options :

1. % Only I

2.% Only II

3. % Both IandII
4. ¥ Neither I nor II

Question Number : 72 Question Id : 2752285095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T 3 3@ F SMYR R, Rl # ¥ $19 91/8 Sy I8 2722



. 51 B! Hd YA 24 B |
IL. 98 $I o 98 a1 &, 98 17 ] |

Options :

1. % PHadl
2. ¥ Had Il
3. % [T I gl
4. % I IAE I

Question Number : 73 Question Id : 2752285096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which figure is similar to the given figures?

Aol ceo0
coe ®0®

Options :

voo
ROY




o]
>

3. ¢

coag
obk0O

Question Number : 73 Question Id : 2752285096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I AHA < TS S faal & THH 72

Aeon ceoO
CCe e0®
oe

Options :

voo
ROV

3. ¢



coag
obk0O

Question Number : 74 Question Id : 2752285097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.

Options :
1. %
L] ]
2. %
3. %




Question Number : 74 Question Id : 2752285097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAafeRad uy 9, fau e faswedl O 9 fawd sirefa o g

Options :

o

L] ]

2. %
3. =
4.

Question Number : 75 Question Id : 2752285098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure on the right of (::) from the given
alternatives based on the same logic/rule/relation.



oIa i an -

(-0 -]

3.¢

Question Number : 75 Question Id : 2752285098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
() P I 3R < Tt &) 3ot fopdt b/ o ey @ Gefid 31 3l T fadel H ¥ () & <l 3R JHM deh/Mam/Aey W smenika
I pfd 1 |

=] oo D o a
oIa : "-""10“'?’ 2 | =

Options :



3. ¢

Question Number : 76 Question Id : 2752285099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

R IR




B

Question Number : 76 Question Id : 2752285099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad gy & fau 7u faswedl & 3 Uy forg (2) & RIM W {11 arel 3MTepfd BI AT

[l Rl

Options :

&
1.¢

&
2. %

R

3. ®




&%

4. %

Question Number : 77 Question Id : 2752285100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

%

Options :

~

s
Y
s

3. W



Question Number : 77 Question Id : 2752285100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T IR ATHIA UY 3BT & Uiy DI I Hh?

?

Options :




Question Number : 78 Question Id : 2752285101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A big cube is painted with yellow, blue and red colour on pairs of opposite faces. Now this big cube is divided into 64 small equal cubes. How
many small cubes will have two faces painted with same colour?

Options :
1. % 2
2. % 4
3.% 8
4.0

Question Number : 78 Question Id : 2752285101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH §3 U9 & fquid B! & grAl & Uid, =il auT a1 I8 J IR g | 31d 39 99 99 Bl 64 SRISR B g1 § faviiord fear man g
fora BI¢ Tl 1 <l Bl FHE 19 T g8 sl

Options :

1. %2

2. % 4

3. % 8

4.0

Question Number : 79 Question Id : 2752285102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.



l?v

Options :

1. ¥

Question Number : 79 Question Id : 2752285102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 77E TR 3npfaal § T 39 IR sMpia & g fora & uy enefa FAfga B

I?V




Options :

1. ¥

2. 8

[ B BN B

Question Number : 80 Question Id : 2752285103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?

Options :




lan
0%

Dua

aE

[]ﬂ[l
oo

& <l
[ <l

lool
[ 50

Question Number : 80 Question Id : 2752285103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & Uy il & fEETy SR SIS &1 HISHR Sa- aul [ & d1G a8 [ IR TP ol [GETs S

AR REERS RS AR, SErmrmrsa e e
a H £ H

o i

Options :

loo
0%s




oo
D'CI =
[]ﬂ (Y
2- «._.-""I oo
o =]
& <l
oA
I i
=] o
lael
Irmr |
4. %
Arithmetic Abilityl
Group Number : 5
Group Id : 275228167
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Abilityl
Section Id : 275228269
Section Number : 1
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228322
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 2752285104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of 0.43?7
Options :
43
L 90

39
7 90

43
3 # 09

39
4 % 99

Question Number : 81 Question Id : 2752285104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0.43 T A FTH?
Options :



43

1% 90

39

2.v 90

43

3 % 09

39
4 % 99

Question Number : 82 Question Id : 2752285105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1.83+133) - (1.83-1.33),
1.83x1.33

What is the value of (

Options :
1. %2
2. % 1
3.4
4. % 1.5

Question Number : 82 Question Id : 2752285105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(1.83+1.33) - (1.83 - 1.33)" Framaaars?
1.83x1.33

Options :



1. % 2
2.% 1
3.¥ 4
4. % 1.5

Question Number : 83 Question Id : 2752285106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five balls commence tolling together. They toll at intervals of 3, 6, 10, 12 and 15 seconds respectively. In 10 minutes, how many times do they
toll together?

Options :
1. %5
2.% 6
3.%9
4. v 11

Question Number : 83 Question Id : 2752285106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Org °fedr Ueh A1y o1 = Rl ¢ | T8 HHRT: 3, 6, 10, 12 TUT 15 YHUS & d1¢ gorct & | 10 e H, 78 fovat IR T A1y Foiifo
Options :

I.* 5

2.% 6

3.%9

4. % 11

Question Number : 84 Question Id : 2752285107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g. X ¥ @

| e = _ ,then whatis the value of "x +y'?



Options :
1. % 148
2. % 169
3.9 173
4. % 194

Question Number : 84 Question Id : 2752285107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
aﬁ'i_: il BB g drx+y FTAFFTE?

Options :
1. % 148
2. % 169
3.9 173
4. % 194

Question Number : 85 Question Id : 2752285108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% nfi of a number is 24 less than § of i of the same number. What is the twice of that number?

35 25 9
Options :
1. % 248
2. % 378
3. ¥ 756
4. % 546

Question Number : 85 Question Id : 2752285108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



& 2 g 1 2 y n
U 9EaT ﬂ?ﬂ—iﬂ?rg—zﬁﬂw & - BT W24FA §| I TEAT T SREET FT g2

Options :
1. % 248
2. % 378
3. ¥ 756
4. % 546

Question Number : 86 Question Id : 2752285109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average of aand b is 18. a is twice of b. What is the value of a?
Options :

1. % 12

2.9 24

3. % 16

4, % 28

Question Number : 86 Question Id : 2752285109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a TYUT b BT 3T 18 Bl a, b BI QAT & | 2 BT HF T 82
Options :

1. % 12

2.9 24

3. % 16

4, % 28

Question Number : 87 Question Id : 2752285110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average of 8 consecutive natural numbers is 37.5. What is the smallest number?



Options :
1. * 31
2. % 32
3. % 33
4.9 34

Question Number : 87 Question Id : 2752285110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 SHHNTA Wi T3l &1 Sid 37.5 8| a4 BICT T 1 82
Options :

1. # 31

2. % 32

3. % 33

4.9 34

Question Number : 88 Question Id : 2752285111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the net discount of three successive discounts 10 percent, 10 percent and 20 percent?
Options :

1. ® 36.8

2.9 352

3. % 374

4. % 33.6

Question Number : 88 Question Id : 2752285111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 Tf=Td, 10 TA=TT TT 20 TA=Td &1 i it gel & Had gc J1 82
Options :

1. # 36.8




2.9 352
3. % 374
4. % 33.6

Question Number : 89 Question Id : 2752285112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price of 1 kg of wheat is increased by 50 percent and the increase is of Rs. 25. What is the new price of the wheat per kg?
Options :

1. % Rs. 45

2. % Rs. 75

3. # Rs. 55

4. % Rs. 60

Question Number : 89 Question Id : 2752285112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 5. 71, 18 & Yeu & 50 Ta=Id ¥ ST 1 § Tl SRt 25 IUU &1 g8 ¢ | 718 o1 Ufd fob. 311, a1 You s 82
Options :

1. % 45309

2. ¢ 7550

3. % 55509

4. % 60 3qY

Question Number : 90 Question Id : 2752285113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a number is reduced by 40 percent, then it becomes 660. By how much percentage should the number be increased so that it becomes 1650?
Options :

1. ¥ 50 percent

2. % 25 percent



3. % 55 percent
4. % 75 percent

Question Number : 90 Question Id : 2752285113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe Ueh TS Y 40 U T T ST 8, o) 98 660 B Sl & | TS &) fha- Ufa=rd ¥ gt ST 18T, d1fdb I8 1650 B STE?
Options :

1. ¢ 50 Ufc=rd

2. % 25 gfd=rd

3. % 55 gfdwrd

4. % 75 gfa=rd

Question Number : 91 Question Id : 2752285114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct?

I. 43.33 percent of 360 = 156
II. A is 10 percent more than B. B is 20 percent more than C. A is 132 percent of C.

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 91 Question Id : 2752285114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafed § 9 oH 9 agl 82

1. 360 T 43.33 UIA=Id = 156
1. A, B 10 Ufa=ra 3if¥& g1 B, ¢ ¥ 20 Ufa=id 3ifIb 81 A, ¢ BT 132 Ufa=G g1



Options :

1. % Had 1

2. % Had Il

3. ¢ 1 U Gl
4. % GBI

Question Number : 92 Question Id : 2752285115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y is increased by 15 percent. Then again it is increased by 20 percent. If we get 690, then what is the original value of Y?
Options :

1. % 600

2. % 550

3.9 500

4. % 650

Question Number : 92 Question Id : 2752285115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y &1 15 Ufawra @ gern a1 g | fhR 8 20 ufawrd § seran i |1 afe 88 690 fAdar g, a1l Y &1 3% A 31 82
Options :

1. # 600

2. % 550

3.9 500

4. % 650

Question Number : 93 Question Id : 2752285116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ratio of selling price to cost price is 9 : 8. What is the profit percentage?
Options :



1. * 15
2.% 10
3.¥ 125
4. % 11.11

Question Number : 93 Question Id : 2752285116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fIeha et ¥ T Hed HT 30T 9 : 8 § | TH Ufa<rd Fm g2
Options :

1. % 15

2. %10

3.¥125

4. % 11.11

Question Number : 94 Question Id : 2752285117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cost price of article is Rs. 2400. If profit is 12.5 percent, then what is the selling price?
Options :

1. * 2900

2. % 3000

3. % 2600

4. % 2700

Question Number : 94 Question Id : 2752285117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I BT T T 2400 U g | TS AT 12.5 Ufa=rd §, ) fasva gea s g2
Options :

1. % 2900

2. % 3000



3. % 2600
4. % 2700

Question Number : 95 Question Id : 2752285118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person earns 25 percent profit while selling an article. If he sells at double selling price, then what will be the profit percentage?
Options :

1. ¥ 150

2. % 125

3. % 100

4. % 50

Question Number : 95 Question Id : 2752285118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS g B! 99 IR TS fad 25 U= a1 HATA g | 1S 98 G fashd T WR ol 8, A1 Ay Ufa=rd 31 g
Options :

1. ¥ 150

2. % 125

3. %100

4. % 50

Question Number : 96 Question Id : 2752285119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cost price of two articles is Rs. 5000 each. One is sold at a profit of 20 percent and other is sold at a loss of 10 percent. What is the overall profit
percentage?

Options :

1. ¥ 5 percent
2. % 7.5 percent
3. # 10 percent



4. % 12.5 percent

Question Number : 96 Question Id : 2752285119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aq;%;ﬁmm T YD BT 5000 TUT g | T BT 20 YA HI TH TR TUT GHR DI 10 UTARId D1 81 R o1 S 7 | Jyuf ar fawra
H[ 9

Options :

1. ¢ 5 gfa=rd

2. % 7.5 gfaerd

3. % 10 gfad

4. % 12.5 gfa=rd

Question Number : 97 Question Id : 2752285120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three numbers are in the ratio of 4 : 6 : 7. If their sum is 9860, then what is the sum of the largest and the smallest number?
Options :

1. ¥ 6380

2. % 7540

3. % 5800

4. % 3480

Question Number : 97 Question Id : 2752285120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 4 : 6 : 7 % U & g1 TG IHT T 9860 &, Tl SHTIHAH qUT ATH H-T HT AT T 52
Options :

1. ¥ 6380

2. % 7540

3. % 5800



4. % 3480

Question Number : 98 Question Id : 2752285121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If (1/2)X =2Y = (2/3)Z, then what is the value of X : Y : Z?

Options :

I.%4:1:2
2. % 4:2:1
3.04:1:3
4. % 4:3:1

Question Number : 98 Question Id : 2752285121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e (1/2)X =2Y = (2/3)28, N X : Y : Z BT A 1 32

Options :

1.%4:1:2
2.%4:2:1
3.94:1:3
4. % 4:3:1

Question Number : 99 Question Id : 2752285122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and Q enter into a partnership and invested Rs. 1000 and Rs. 3000 respectively in the business. After 3 months, Z also joins the business with
an investment of Rs. 4000. After one year, they earn a the profit of Rs. 2023. What is the profit share of Q?

Options :

1. * Rs. 769
2. % Rs. 676
3. ¥ Rs. 867
4. * Rs. 289



Question Number : 99 Question Id : 2752285122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P dYT Q U ATaR H WA= fohd T e H HHT: 1000 TYT TUT 3000 3T a1 ford | 3 A8 d1q z i soawmd | 4000 398 &
321 & Ty e g1 SIraT 8 1 U 9 Uyt I 2023 U MY HHET| Q BT A1H T o 1 g2
Options :

1. % 769 %04
2. % 676304
3. ¢ 867 04
4. % 289304y

Question Number : 100 Question Id : 2752285123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simple interest on Rs. 2400 for 6 years is Rs. 1800. What is the per annum rate of interest?
Options :

1. # 7.5 percent

2. ® 15 percent

3. ¥ 12.5 percent

4. % 10 percent

Question Number : 100 Question Id : 2752285123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2400 ¥UY TR 6 I8 T RO TS 1800 FUY g | U I8 TS b <X HT 22
Options :

1. % 7.5 gfawrd
2. % 15 gfawd
3. ¢ 12.5 Ufawrd
4. % 10 gfaerd
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Question Number : 101 Question Id : 2752285124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sum amounts to Rs. 11109 is 2 years at compound interest. The rate of interest is 15 percent per annum and interest is compounded annually.

What is the sum?
Options :

Arithmetic Ability2

6
275228168

Arithmetic Ability2

275228270
1

Online
Mandatory
20

20

20

Yes

1
275228323
Yes



1. * 9200
2. % 9000
3. # 8800
4. ¥ 8400

Question Number : 101 Question Id : 2752285124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP YRIRT Th g STl TR 2 T8 H 11109 $UY G I g | STl &1 &x 15 UTI=Ied Ui T § q1 1T T o aniyeh ¢ | UFRITRT o 82
Options :

1. # 9200

2. * 9000

3. # 8800

4. ¥ 8400

Question Number : 102 Question Id : 2752285125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the difference between compound interest (compounding annually) and simple interest for 3 years on a principal of Rs. 5000 at the
rate of 10 percent per annum?

Options :
1. ¥ 155
2. % 165
3. % 150
4. * 160

Question Number : 102 Question Id : 2752285125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5000 T & YAY TR 10 UFARd & &S X A 3 I8 & ol Tshgfeg ST (@1fiies OIS UR) qT QIERUT 7S] T SR 1 82

Options :
1. ¥ 155



2. % 165
3. % 150
4. % 160

Question Number : 103 Question Id : 2752285126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If I walk at 9/5 speed of my usual speed, then I reach my office 16 minutes early. What is the usual time taken by me to reach the office?
Options :

1. # 24 minutes

2. % 36 minutes

3. # 48 minutes

4. % 54 minutes

Question Number : 103 Question Id : 2752285126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfe o &mﬁgmﬂﬁrﬁ% T IAAT§, o H 30 TR 16 TFTe Ugdl Ugadl 5| TR §RT SR Ugd & fo18 JrEmad: foraT 90y
ferm ST 52

Options :

Question Number : 104 Question Id : 2752285127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Raman travels with 30 percent speed of its usual speed, then he will reach 15 minutes late. What is the usual time taken by him?
Options :

1. # 21 minutes

2. % 28 minutes



3. % 42 minutes

4. % 35 minutes

Question Number : 104 Question Id : 2752285127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g T 37Ot Y=g T BT 30 ARG 1S F A1 HaT1 ], ) 98 15 e S T ugamm | 39 g1 ford S aral Qg IHg 31 82
Options :

1. % 21 ffFe

2. % 23 e

3. % 42 fie

4. 35 fie

Question Number : 105 Question Id : 2752285128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two places F1 and F2 are 440 km apart from each other. Suraj and Rohit starts moving from F1 towards F2 at the same time. After reaching F2,
they return back to F1. Speed of Suraj is 30 km/hr more than the Rohit. If they meet after 4 hours, then which of the following statement(s) is/are
correct?

I. Distance covered by Suraj is 500 km.
II. Speed of Rohit is 95 km/hr.

Options :

1. % OnlyI

2. % Only II

3. % Neither I nor II
4. % Both I and Il

Question Number : 105 Question Id : 2752285128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& RIM F1 TUT F2 Uh-gaR 9 440 f6 M. R 8 | IR aUT A U 81 THT W F1 W F2 BT 3R I URH R ¢ | F2 TR Uga- & §Ig 98
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L. IS P gRT AT DI T &1 500 [T, B
1. fed &1 7fd 95 s 1t /eier B

Options :

1. % PHadl

2. % Had Il

3. ATRIIATIRI I
4. % 1 UGN

Question Number : 106 Question Id : 2752285129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sohan alone can do a work in 18 days and Mohan alone can do the same work in 36 days. In how many days will they together complete the
same work?

Options :

1. # 15 days
2. ¥ 12 days
3. % 11 days
4. % 14 days

Question Number : 106 Question Id : 2752285129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 31hdl U BT &1 18 fa T R Tohdl § qUT HIgH bl 34 B Bl 36 {7 H R b 8| 98 Faes I3t w ol fpan fef & g
B

Options :

1. % 15faq

2. ¢ 12faF

3. % 11feq

4. % 1413

Question Number : 107 Question Id : 2752285130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

B1 alone can do a work in 12 days and B2 alone can do the same work in 15 days. With help of B3, they finish the same work in 5 days. In how
many days B3 alone can do the same work?

Options :

1. # 32 days
2. % 27 days
3. % 20 days
4. % 25 days

Question Number : 107 Question Id : 2752285130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B1 3{d U BT T 12 e H = Tobdl & TUT B2 3hd ST B & 15 el # HR Ipar g1 B3 Pt TgdT I 3 I &1 1 5 fei o
AT R Jobd & | B3 3bd I D1 Bl fobda fe=l H B Iohdi 82

Options :

1. % 3 faq
2. % 27feT
3.+ 20 feA
4. % 25faq

Question Number : 108 Question Id : 2752285131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C alone can complete a work in 30, 36 and 45 days respectively. All three of them started the work together but after 8 days A left the
work and B left the work 2 days before the work was completed. C completed the remaining work alone. In how many days was the total work
completed?

Options :

1. # 80/9 days
2. ¥ 142/9 days
3. % 270/8 days
4. % 260/7 days



Question Number : 108 Question Id : 2752285131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, BAYTC 3(hd U B DI HH: 30, 36 TUT 45 &A1 H R I Tohd g | I A A1 FAH BRI 1 SR fPar g s A F uyra A A
&1 Bie foa quT B 7 S 1 BH 9 2 37 gd & ®is o ¢ 3 Aw wrd siopa € IR forarn | i i fopaq! ot & QR gamo
Options :

1. % 80/9 faT

2. ¢ 1429 &

3. % 270/8 f&

4. % 260/7 fa71

Question Number : 109 Question Id : 2752285132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the ratio of volume of two cubes is 729 : 1331, then what is the ratio of the sides of the two cubes?
Options :

1. % 8:11

2.% 11:13

3.90: 11

4. % 13:15

Question Number : 109 Question Id : 2752285132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 1 o ST BT ST 729 : 1331 8, Tl Qi1 O1 B YoTrafl T SUTd 31 62
Options :

1. % 8:11

2.%11:13

3.99: 11

4. % 13:15




Question Number : 110 Question Id : 2752285133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the radius of a sphere is equal than the radius of a hemisphere, then what will be the respective ratio of their volumes?
Options :

l.*1:1

2.%3:1

3.2 1

4. % 6:1

Question Number : 110 Question Id : 2752285133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T TIal 1 ST T S1efial &1 a1 &t GuM §, O S SMad-1 1 ST 3FUTd T 81T
Options :

1.%1:1

2.%3:1

3. 9°2: 1

4. % 6:1

Question Number : 111 Question Id : 2752285134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three circles of radius 8 cm are kept touching each other. The string is tightly tied around these three circles. What is the length of the string?
Options :

1. ® 32+ 16mcm

2. % 24n+32 cm

3. % 48+ 18t cm

4, 48 + 161 cm

Question Number : 111 Question Id : 2752285134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

8 .1, Froar arat 9 gl 1 ST o TR HRd §U W T g | 39 fiF gl & IRI 3R Teh YT Hah S 71 g | 4T &t avals ol g2
Options :

1. % 32+ 16n QA

2. % 24n+ 329

3. % 48 + 187 A.HN.

4. 48 + 160 T,

Question Number : 112 Question Id : 2752285135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The side of an equilateral triangle is 9 cm. What is the radius of the circle circumscribing this equilateral triangle?
Options :

L% 543 cm

Z\E cm

2. ®

3 % 4ﬁc1n

4 3\5 cm

Question Number : 112 Question Id : 2752285135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS qHaTg Y &1 Yor 9 T4, 81 39 JHaTg BYS &1 e - aral 9d &1 Bear J1 /2

Options :

% W3



2.3 A

2. %

e B Ea

3

PPN AR £ 8

Question Number : 113 Question Id : 2752285136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of books in 6 shops.

Shops | Number of books
400
378
240
620
200
160

7 o}i 8w o) E ] Klw ol o

What is the average number of books per shop?
Options :
1. % 334
2. % 347
3.9 333
4. % 351

Question Number : 113 Question Id : 2752285136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3 €t 18 1T 6 GBI B QX! &1 G Bl g1 |

gHE | eI T HET
A 400
B 378
& 240
D 620
E 200
F 160
U g QX! &1 ST Te 1 g2
Options :
1. % 334
2. % 347
3. ¥ 333
4. % 35]

Question Number : 114 Question Id : 2752285137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the marks obtained by 4 students in three subjects. Maximum marks of each subject are 400.

: Subjects

Students S 7 53
P 350 400 280
Q 220 320 240
R 340 180 260
S 140 120 270

Which of the following statement(s) is/are correct?



I. Ratio of marks obtained by S2 in Q to the marks obtained by S3 in S is 32 : 27.
II. Sum of marks obtained by S2 in P and S1 in S is 640.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 114 Question Id : 2752285137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 & Tt arfereT fiF fawat H 4 S gRT U o3 11U 3iht Y STl B | U favy & SifehdH 3ih 400 B

- IELE]

51 S2 S3
P 380 | 400 | 280
Q 220 | 320 | 240
R 340 | 180 | 260
S 140 | 120 | 27

ol 7 9 oF I/a o= I8 8782

1. S2 §RTQ ¥ U o Y 3ichY T 3 §RT S H U o) 7T 3iepl § 32 : 27 HT U B |
ILPHS2 AU s H S1 R UK fHd U 3fehl &1 AT 640 B
Options :

1. ¥ Hadl
2. % Had Il
3. % [qUT el
4. % 1B

Question Number : 115 Question Id : 2752285138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of males in 5 countries. Number of males in a particular country are shows as a percentage of total
number of males in these 5 countries.

Which of the following statement(s) is/are not correct?

I. Number of males in C3 are 300 percent of males in C1.

II. If number of males in C5 are 8000, then number of males in C1 are 14400.
II1. Central angle formed by the sector of C2 is 72 degrees.

Options :
1.¥ TandII
2. ® Il and III
3. % TandIII
4, % Only I

Question Number : 115 Question Id : 2752285138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%?ﬁﬁ?sﬁﬁﬂﬁmﬁm%l TS fafry 21 o g s ot TR Y 39 5 3 W Yl Y Hot WA & U= &
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1. C3 T T & W, C1 W s & e Bt 300 Ufa=id 7
1. af¢ 5 & TN B AT 8000 8, C1 H T T BT 14400 & |
[11. C2 7 WU gRT §11 T &g i 72 f5uht B

Options :
1.« 1dYUT Il
2. % IIdYTIII

3. % [dUTIII
4. % Had [

Question Number : 116 Question Id : 2752285139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of pens and pencils in 8 shops.



Shops | Pens Pencil
A 120 60
B 140 80
& 60 00
D 80 110
E 240 40
F 300 180
G 220 220
H 40 120

J1 — Average of number of pens in G, H, C and F.
J2 — Sum of the number of pencils in A and the number of pens in B.
J3 — Difference between the number of pencils in C and H.

What is the value of (J2 +J3) —J1?
Options :

1. % 70

2. % 110

3.9 50

4. % 80

Question Number : 116 Question Id : 2752285139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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c':,'ﬂ-rlu:i Fold | Ufder
A 120 a0
B 140 30
C 60 o0
D 30 110
E 240 40
F 300 130
G 220 220
H 140 120

J1 -G, H, C dUTF & SorHl & T-HT BT 3Gd |
12— A H, URIcl &1 I aUT B H HaH! ot I HTINT|
J3 — C YT H H URYE] &1 9= & 3¢ 3R |

(J2 +J3) - J1 BT HHE T 82
Options :

1. % 70

2. % 110

3.¥ 50

4, % 80

Question Number : 117 Question Id : 2752285140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of boys in 7 schools.



300 280
250 M
= 200
0 S
e 160
i 140 120
E i
E D
=0
=
A B e D E F G
Schools

What is the ratio of number of boys in C to the number of boys in F?
Options :
l.*3:7
2.9 7:3
3.%4:7
4. % 7:4

Question Number : 117 Question Id : 2752285140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 3:7
2.97:3
3.% 4.7
4.% 7.4

Question Number : 118 Question Id : 2752285141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the number of tyres in 8 shops.



Mumber of Tyres

Shops

K1 — Average of number of tyres in N, J and K.
K2 — Total number of tyres in P, Q, M and N.

What is the value of K2 — K1?
Options :

1. ¥ 391.34

2. % 341.64

3. % 381.34

4. % 372.64

Question Number : 118 Question Id : 2752285141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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TR &l 9&Er

K1 — N, J 9UT K & SRR} 1 TeT BT 3N |
K2 - P, Q, M AU N ¥ TRRI & Ha &
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Options :

1. ¥ 391.34

2. % 341.64

3. % 381.34

4. % 372.64

Question Number : 119 Question Id : 2752285142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the income and expenditure of a company in 5 consecutive years.



12000
10800 11200
3000 < 5500
7400 7200
G600
5200
Y1 Y2 ¥3 Y4 Y5
Olncome MExpenditure

Profit percentage = {[Income — Expenditure]/Expenditure} x 100

Which of the following statement is not correct?

Options :

1. # Profit earned in Y2 is 42.31 percent

2. % Income in Y2 is 68.52 percent of income in Y3

3. ¥ Ratio of value of profit in Y2 to the value of profitin Y4 is 12 : 11

4. % Average expenditure per year is 8480

Question Number : 119 Question Id : 2752285142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % y2 H SHE AT dH 42,31 Ufa=a g

2. % Y20 31, Y3 H 3 D1 68.52 Ufard 8

LYYV A Y G AN BT VAT THF AFY 12 : 11 BT U §
4. % yfa gof 3NTd o0 8480 B

Question Number : 120 Question Id : 2752285143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the scored and bowls played by 5 batsmen.
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Strike rate = Runs scored / Balls played

Which of the following statement(s) is/are not correct?

I. ‘B> D > C’ is correct about the strike rate of B, D and C.
II. Runs scored by B are 150 percent of balls played by D.
I11. Total runs scored by B, C and E are 660.

Options :

1. # Il and III
2. % Only III

3. % [, Il and III

4. % All statements are correct

Question Number : 120 Question Id : 2752285143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 121 Question Id : 2752285144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7 gsg 1 I faye J1d ST
SIRIE

Options :

1. % 3{cU + 31
2. % A +Ug

3. ¢ U + 3
4, % 3(d + 3IY

Question Number : 122 Question Id : 2752285145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feT T 3T 1 IH F1d BT
LUEIE)

Options :

1. #® JoIqHN™

2. % 3T JHTH

3. % JHJgH dg>y

4. ¢ fg Ay

Question Number : 122 Question Id : 2752285145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 7T Ieq &1 IHIN 1d HifT|

PEIE]
Options :
1. ® Jol JHNY



2. % YIYIYIG THYg
3. #% qUIqH gy
4.« T Ay

Question Number : 123 Question Id : 2752285146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafad & § SH-971 Yeg T2 et 82
Options :

1. % Tgd4id

2. % TR

3. % 9dld

4.« Zaf

Question Number : 123 Question Id : 2752285146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafifed & § 5 H-91 7 3191 T 7
Options :

1. # UgdHId

2. % TRg

3. % [dld

4.« Zaf

Question Number : 124 Question Id : 2752285147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % fveyare fehar farivo
2. ¢ HIAdrad fohdr AR
3. % WA fhar fa-iyor
4. % JAfEdara® foear favyo

Question Number : 124 Question Id : 2752285147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT ¢ a1 1 fohan favivur Jd S|

Ig 3T 3R T e i |
Options :

1. ® Fyaras fopar forivor
2. ¢ HIadrde foar [aReom
3. % RHaE® fhar farivo
4. ® 3ffAf¥aaree forar faxm

Question Number : 125 Question Id : 2752285148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ RN
2. % qABIaIdH
3. % MY
4. % GG

Question Number : 125 Question Id : 2752285148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ RN
2. % QABIIdH
3. % MY
1. % W

Question Number : 126 Question Id : 2752285149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TAigd G
2. % T[UMATId ARl
3. % FrgHS faRwor
4. % 3T GBS

Question Number : 126 Question Id : 2752285149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou 71U are &1 foRiwor J1d B |
A5 S & 33 WEA B

Options :

1. ¢ TAfgd S
2. % U fa=mor
3. % TrgHG faRwor
4. % AT Fed=D



Question Number : 127 Question Id : 2752285150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau Qg § wdm 31d fBfu

3T T HTH HIAT HTYH TG B |
Options :

1. % q&YdE® 941

2. ¢ YYD Ta-TH

3. % fegare 9dqm

4. % JfgTars gdqH

Question Number : 127 Question Id : 2752285150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu v a9 & 9a=mH 31d fB iU

31T T HTH HAT HTIH TG Bl |
Options :

1. % QEYardd a1

2. ¢ GYarD Ta-TH

3. % fAggara® gdqm

4. % JFyga® JaaH

Question Number : 128 Question Id : 2752285151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Froffed 3 8 SH-91 g Sfddrdes H31 781 62
Options :

L% Hg™

2. % N[44



3. % D
4. ¢ g

Question Number : 128 Question Id : 2752285151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfREd # ¥ -1 X SIfdarad 31 T61 62
Options :

1. % ¥

2. % N[44

3. # dlch

4. v IR

Question Number : 129 Question Id : 2752285152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

|, % GERUY

2. % GRERUY
3. % RO

4. ¢ fqeRuig

Question Number : 129 Question Id : 2752285152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3ffaERig

Options :



1. % gERUg
2. % gReRufg
3. % TRUY

4. ¢ fqERUMY

Question Number : 130 Question Id : 2752285153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 3

2. % 399

3. % 3U

4. % TORt

Question Number : 130 Question Id : 2752285153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ 3
2. % 3HAY
3. % 3U

4, % TOR

Question Number : 131 Question Id : 2752285154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % @it
2. % 3dd
3. ¢ dfedl
4. % Rd

Question Number : 131 Question Id : 2752285154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T Wsg 1 T Wsg J1d HIfoTT
T

Options :
1. % el
2. % 3dd
3. ¢ dieHl
4. % Jq

Question Number : 132 Question Id : 2752285155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # U

2. % 3Tdl

3. %

4. ¢ 3UIAD



Question Number : 132 Question Id : 2752285155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fu TTQ Trsal # 313G ac-! BT g9 BT
Options :

1. % I

2. % 3[dl

3. %8

4. 3fUIdD

Question Number : 133 Question Id : 2752285156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U T Xreq T &1 Ta! Usg JH AT BT

YA : SUHA

Options :

1. % 3faR : fARTER

2. % Ugdl: 3ATax

3. ¢ fRIGR : o ger 81
4. % ORI geHT 81 : Ugdl

Question Number : 133 Question Id : 2752285156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 71U <req i H1 T XWsa FH I DI

SHUHA . SUHIA

Options :

1. % 3T : FRIER

2. % Ugdl : 3Tgr

3. ¢ TRIGR - Fore g gl



4. % ORI qoHT 81 : Ugell

Question Number : 134 Question Id : 2752285157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefed o @ ®1F-91 e T Tal Ta1 82
Options :

1. # Sd-Ydl

2. % GIdI-grd

3. % Xg1-Xed

4. ¥ YIT-dNT

Question Number : 134 Question Id : 2752285157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFoffad 7 9 S1H-91 Wsg g Tel o1 82
Options :

1. * Sd-YoT

2. % Grdr-yid

3. ® g1-Ye

4.« YI-dIT

Question Number : 135 Question Id : 2752285158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ﬁ?ﬂ?%{"ﬂ

2. % WU Y




3. % JTRGI@; URAR
4. ¥ HAH; {1 Y

Question Number : 135 Question Id : 2752285158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fq9R; 42

2. % WUA; Y4

3. wmﬁr@uﬁm
4. ¥ Fao; A1g YA

Question Number : 136 Question Id : 2752285159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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St = ferar mar

Options :

1. % 3fyferRad
2. % 3EfRId
3. % sHfafaa
4. SefeRad

Question Number : 136 Question Id : 2752285159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % SfyferRad

2. % 3T

3. % gHfeRad

4.« feiffaa

Question Number : 137 Question Id : 2752285160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % DI

2.9

3.%

4. % B GRI

Question Number : 137 Question Id : 2752285160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % &I

2.V 9

3.%

4. % HGRI
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Orientation : Vertical
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Question Number : 138 Question Id : 2752285161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 139 Question Id : 2752285162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & & o a1 wifeiT SR gied 1 gl g2
Options :

1. ¥ BR

2. % YR

3. % dR

4, % DR

Question Number : 139 Question Id : 2752285162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fFroffead & & o1 a1 wifei 3iR gfce T gt g
Options :
1. ¥ R
2. % YR
3. % dR
4, % DR

Question Number : 140 Question Id : 2752285163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

< T /1 GHT U B YTDTd BT HS 82
Options :

1. % 397

2. ¢ QU

3. % gy

4. % {qrHY

Question Number : 140 Question Id : 2752285163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B} G W GBT U B F YdbTd BT VG 82
Options :

1. % 3197

2. ¢ quf

3. % dfigwy

4. % {qMHY
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Question Number : 141 Question Id : 2752285164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
«3fd H fpeR 913, 1 ford gy 1 Iarerur 82

Options :

1. ¢ Gy ghi
2. % I gha
3. % Fyande gh



4. % qIEUARED g

Question Number : 141 Question Id : 2752285164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
«3fd § fheR ST, 1 for gy &1 IeTerur 82
Options :

1. ¢ HUaId® g

2. % SIS i

3. % Fyare g

4. % RIS g

Question Number : 142 Question Id : 2752285165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“ITS! I TG 87 B I Ual &7

Options :

1. ¢ TIOdIg®d
2. % gof

3. % 3rquf
4. % RUIATHD

Question Number : 142 Question Id : 2752285165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS} T IGT &7 DI T UL 82
Options :

1. ¥ GIISYh

2. % Ui

3. % 3ol

4, * YITHD



Question Number : 143 Question Id : 2752285166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“gg fohdhe Igd 3BT WAl 87 B T T g2
Options :

1. * Uy

2. % 3dH

3. % HYH

4.9 3]

Question Number : 143 Question Id : 2752285166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“gg fohdhe Tgd 33T JadT 87 P T I g2
Options :

1. % JYH

2. % 3dH

3. % HYH

4. ¢ Y

Question Number : 144 Question Id : 2752285167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad ot O ¥ Y a1 &1 9949 Diford|
Options :

1. % AR H 3! aRA RIF g8 A g
2. % TYRTH 3P ST VI & g g
3. ¢ AYTH 3 G RIF B

4. % 3% ST W AR H 3|1 AT B
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faferiRad aril B 9 Y aTed &1 99+ Diforg|
Options :

1. % MRRTH 3D eI VI &8 g g |
2. % TRTH 3P ST VI & g g |
3. ¥ MR H 3Ad 1 R G

4. % 3P SR I AYRTH /- I g

Question Number : 145 Question Id : 2752285168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad areRil B ¥ g o a1 J1d BT
Options :

1. ¢ Sle<! 9dl, el dl 9bg S|

2. % Seal 9 I R Udhs SIS |

3. % I W UPho S|

4. % i Sed] Il o) Udhs el SII3{|

Question Number : 145 Question Id : 2752285168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad arel O @ Tgad a1 Hifee|
Options :

1. ¥ Sfcdl =ell, T8l ot Uhs SIS |

2. % ool 9 90 R Udhs S8 |

3. % 90 R UPbs SM3{ |

4. % Iig STed] IR dl Ubg Fg] SIS |
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frafRad arel O @ R are I1d P |
Options :

1. % SR € g2l g8, 9= TR Id Y|

2. ¥ @el Bl 81 9= TR 9] T

3. % P2l g3 3R g W Ia ¢

4. % 99 QeI g8 d9 g W I MUY
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fFafafed It o ¥ IRd a1 J1d Bt
Options :

1. % SR g g5l g8, 9= TR Id Y|

2. ¥ FeI 8ld 81 S TR I T

3. % FEI g3 3R = | I Y|

4. % 9 gl g3 a9 = W I T
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STel TR H b FH S{ABRUT BT TN Bial 3 ol b favmd forg o1 uai gl 62
Options :

1. % 3rcgfaR™

2. ¥ 3fGIRM

3. % drdd

4. ® YYdrdd
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OIS AT B Ueh T S{IET ST UGN 81T § <) (o faRTH forg &1 Ui 8l 82
Options :

1. % 3rcgfaR™

2. ¥ SfGIRM

3. % g

4. % JHdIdD
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qUifaRTH forg 1 TRINT e | g1 [l STl 52
Options :

|. % QR H URY |

2. AR P 3Aq Y

3. % g b g 4

4. % I YRY qUTgF 4

Question Number : 148 Question Id : 2752285171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
guffaR g 1 uaiT are § wel fohar ST g2
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1. % 91 & URH H

2. AP AT

3. % IR b HA Y

4. % 90 b URYH qUT HH |
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1. %= ..
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3. % _
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fqu g farmw forgl & 4 srgfi forg Fd i
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1. % ..

2.9

3w

4. % |
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fau U a1’y © Iuged form fag &1 = pifor|
qTg MO Al HATA DR G

Options :
1. %2
2.9 |
3. %

4. %,

Question Number : 150 Question Id : 2752285173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. %2
2.9

3. % ;
4, ®

b
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TBI-T IS
Options :

1. ¢ IRE HAVGHT
2. % TQIEd M
3. % HiSAR I gRAT

4. % g3 IE SGal ol

Question Number : 151 Question Id : 2752285174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, fau o IR faweal & 9§, 39 fawen &1 7997 & 57 fou U geTak & 31 ol Id9% U § odad Rl g |

qTh1-I AT
Options :

1. ¢ TR BV
2. % TIIEd M
3. % HiGAR I gRAT

4. % g3 IXE Jqdl ol




Question Number : 152 Question Id : 2752285175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawed & 9, 39 faded o1 7o 3 ot f3T 70 geTer & 31 &1 a9y U ¥ oJad HRal g |

19 UR TR/ &1
Options :

1. % 98I YR ATl

2. ¢ IS UR T

3. % TRy gga

4. % RO 9T 8T

Question Number : 152 Question Id : 2752285175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ve ), fou U IR fawedl & ¥, 39 fawen &1 997 & 7 fou U geTark & 31 ol Ya9% U § oJad Rl g |

19 TR A/ AT
Options :

1. % T4 IR HAT

2. ¢ 98T IR T

3. # fRyfd gqa

4. % gRUMH OIfYd gIFT

Question Number : 153 Question Id : 2752285176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu U IR fawedl & 9, 39 faded o1 7o 3 ot f3T 7T geTer & 31 &1 a9y ¥U ¥ oJad SRl g |

URR IS 31
Options :




1. ¢ 30 vd B3R B ot gur 3
2. % qRR A8

3. % Y fHer

4. % AR gad gl

Question Number : 153 Question Id : 2752285176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7T IR fawedl & 9, 39 faded o1 w0 3 o1t fT 7T gerer & 31 &1 a9y U ¥ oJad SRl o |

URR G 3T
Options :

1. ¢ 9t td waR &1 it gar e
2. % GRR drel

3. % Y Her

4. ® HAR BT g

Question Number : 154 Question Id : 2752285177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, fou U IR fawedl & 9, 39 fawen &1 997 &3 1 fou U geTar & 31 ol Ya9% U § oJad Rl g |
Tdd B1 TS JHGH

Options :

1. % g3 ger gfed g1

2. ¥ §8 HTH DI BIel G
3. % Tgy BT

4. % T-Feg HRET

Question Number : 154 Question Id : 2752285177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeiad ve o, fou 0 oR fawedl & 9, 39 fadmen &1 997 &3 1 fou U geTak & 31 ol Ya9% U § oJad Rl g |
udd & S JHSAT

Options :

1. % g3 ger gfed g 1

2. ¢ I8 BT I DIl GHSAT
3. % IOy BT

4. % T-Feg HRET

Question Number : 155 Question Id : 2752285178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawed & 9, 39 faded o1 oo 3 o1t fT 7T geTer & 31 &1 Jd9§ U § oJad HRal g |
B AW ST

Options :

1. ¢ fordht & Ome B gad Sl
2. % a1 BT TR gPpr S
3. % THITd ! Gg gl

4. % 30 R fayrg &

Question Number : 155 Question Id : 2752285178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, fou U oR fawedl & 9§, 39 fawen &1 997 &3 1 fou U geTak & 31 ol Ya9% U § oJad HRdl g |
we W ST

Options :

1. ¢ Tt & aa & e
2. % FHeT & R ggR o
3. % THIad &I g g

4. % 309 QR fayrg B




Sub-Section Number : 2
Sub-Section Id : 275228326
Question Shuffling Allowed : Yes

Question Id : 2752285179 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

frafeiad T @ ermyde ufgu 3R fau mu sk & 3w |

YTcpcrch T FIH ¥ A Yepfd ob GRT {71 741 Ueh SUGR & | X1 BT A=, U1, vt ofR gt oiepfciep el o o O € ot gt
& BXIAY & o1 WIHTA® =0 I Sanfed 8ld ¢ | 3 TdHid § TR H|ﬂ|ﬁmaﬁ%|ﬁwwqedﬁqvﬁﬂaqﬁﬂuaaﬁwmwﬁ

T8 TR W iad TATeH S ROT 1 AL, §aT 3R U1 o 91 ST g1 o 3riva g1 3 Uidhfad Iamed o §AR Sita &1 U
W%@T%@WWWWT@%IWWW Upid & TRW I FAR AU 3 SUER &1 3 ATl gRT el 3R 3ucies
w0 I U fHu od €1 F9 Siaa, mcps|ﬁﬁwmﬁﬁw%mwﬁwwﬂﬁwﬁwmﬂ%ﬁmwm
TR ST 1 T8 ST 3 Rofd B 3 FoTT ST SITell 2 | & iepeie Trert & ok Ueh R/ TR 31T 8, 39 291 & qp e, A, UTpfaiep I,
Wsﬁ?@ﬁﬁ&ﬁﬁw%%gﬁmm%%ﬁw%@ﬁéﬁﬁaﬂqﬁm%Wwﬂﬁ&m&rwwa{ﬁ% 3T
GG HRP T 3T X3 3R 131 Dl 37! TSI ¥ ST Hb, 3BT IYTN HAT| W TaTe= A4 Sfd & IATY-T1Y 3T
Sital & fog off sraxas |ﬁsﬁ@wmw%ﬁmﬁ%w%w%wmqﬁm&ﬁmﬁamﬁﬁaﬁﬁmm%q%aﬁ%%msr
o, faftra TR & WIepferch TETel & U &1 UIpfdieh T1EH! T T SR [eRUT SRR ATURY i A e Rl § fore
I B! FeTal fHedl § 139% e e o1 7= HRUI, Jead™ Wi ae Sl & Hafd g1

Sub questions

Question Number : 156 Question Id : 2752285180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TThiaes JaTeA H Ugal R W B I S 82
Options :

1. ¥ =Y

2. % I

3. % dAlsl

4. % I3l 3RT

Question Number : 157 Question Id : 2752285181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

DI I 3 dd RoTd B & Fore S i 82
Options :

1. % I3Hal 3RT

2. ¢ HATST

3. % Igdd Iy ARBT

4. % =Y

Question Number : 158 Question Id : 2752285182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ged IR SiaH ! fordds gRTIHT 3R ST ST ST 82
Options :

1. ® gddyg

2. % SIRITY HUR

3. ¢ STyl

4. % g3

Question Number : 159 Question Id : 2752285183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HH-I1 Y BT, Al 3R A argal onfe & a5g 82
Options :

1. # S4iq

2. % Y

3.9 A

4. % PpAST

Question Number : 160 Question Id : 2752285184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f3T U TRy T Iugad M o B
Options :

1. % 3o A

Question Id : 2752285179 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (156 to 160)

frafeiyd T & eFyde gfeu 3R AU 7T usi & I i

T Tads THTEH AT U ¥ Ui & gRT e 7101 U SUSR & | GRS D1 AR, T, e 3R ga1 Uigpfas Saemt & $ U9 § off 3w
¥ GEIAT P T WU U I SR A1 13 Uy & TR 71 8 U0 o 2 | 3 e ged) OR oo oY g 3R e a1 2
T8 TR W iad TA1e S1- RO 1 AL, §aT 3R UTHT o 1 ST g1 o 3riva g1 3 Uidhfae Iamed ot §9R Sita &1 U
Wm%ﬁmm&ﬁaﬁww%mﬂwm Thid & dR% AR AT S IUBR & | F A gRT U 3R {uces
= Y ITHIT fbT o1l &1 < PIadt, dobgt 3R Al enqeil & T ¢ 579 FIepfeics T bt ST BT a1 STl § l HTST R AR
TR ST | T8 S A Rofd B 3 FoTT ST offell 1 & OTep T AT H HoR Ueh RIM R 3T 8, 39 o | ddbel, ad, Wi 19,
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GG B T 3T X3t 3R 131 Dl 37! TSI ¥ ST HIh, 3BT IYTN HAT| W T M Wi & Y-y 3T
Gﬂ?:ﬁ%ﬁ«lmﬁ&namw%lﬁm@aqmw&ﬁaﬁ%wélwmwwqﬁmmmﬁﬁﬁhﬁmmﬁ%lq@%ﬁfuﬁ
e, faftra TR & WIepferch TaTel & U &1 UIpfdieh S1EH! T T SR [eRUT SfeRRIEIT ATURY bl A W Bl § fore
I} B! FeTal fedT § 139% 3 [Aw o1 71 SRUI, Jead ™ Wi ae el &1 Hafd g1

Sub questions

Question Number : 156 Question Id : 2752285180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T THTeH! § e RIMH TR B A1 G 82
Options :

1. ¥4

2. % T

3. % ddls]



4. % T3l 3RS

Question Number : 157 Question Id : 2752285181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S T <= et RoTd =1 & o ST ST 82
Options :

1. % ¥SHdl 3R

2. ¥ DAlS]

3. % Igdd I ARBT

4, % Y

Question Number : 158 Question Id : 2752285182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g2 UR Sita P fbdas GRT WG 3R SHTH §11 S 82
Options :

1. ® gdydryg

2. % RIPII AUR

3. 1YL

4. % gl

Question Number : 159 Question Id : 2752285183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BH-T7 2 B, bt 3R fAft wrgan anfe @ wgg
Options :

1. # S4

2. %Y

3. ¢ A

4, % HAIS]



Question Number : 160 Question Id : 2752285184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U T TRIT=T T U =MSd &1 g

Options :
1. % e fapr

2. % IR P! IeTal
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Sub-Section Number : 1
Sub-Section Id : 275228327
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 2752285185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I am really (1)/ ashamed off what (2)/ I did to you last night. (3)/ No error (4)
Options :

1. % Tam really

2. ¥ ashamed off what

3. # 1did to you last night.

4. % No error

Question Number : 161 Question Id : 2752285185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I am really (1)/ ashamed off what (2)/ I did to you last night. (3)/ No error (4)
Options :

1. # Tam really

2. ¥ ashamed off what

3. # 1did to you last night.

4. ¥ No error

Question Number : 162 Question Id : 2752285186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

If a creature can gain (1)/ more calories than it (2)/ spends, it gets biggest. (3)/ No error (4)



Options :

1. % If a creature can gain
2. % more calories than it
3. ¥ spends, it gets biggest.
4. % No error

Question Number : 162 Question Id : 2752285186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

If a creature can gain (1)/ more calories than it (2)/ spends, it gets biggest. (3)/ No error (4)
Options :

1. % If a creature can gain

2. # more calories than it

3. ¥ spends, it gets biggest.

4. % No error

Question Number : 163 Question Id : 2752285187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Many of the largest food (1)/ transport links (2)/ was within California. (3)/ No error (4)
Options :

1. % Many of the largest food

2. % transport links

3. ¥ was within California.

4. % No error

Question Number : 163 Question Id : 2752285187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Many of the largest food (1)/ transport links (2)/ was within California. (3)/ No error (4)
Options :

1. # Many of the largest food

2. # transport links

3. ¥ was within California.

4. ® No error

Question Number : 164 Question Id : 2752285188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The paper promises a transparent (1)/ and non-discriminatory system (2)/for dispatch and movement of trains. (3)/ No error (4)
Options :

1. # The paper promises a transparent

2. % and non-discriminatory system

3. # for dispatch and movement of trains.

4. ¥ No error

Question Number : 164 Question Id : 2752285188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The paper promises a transparent (1)/ and non-discriminatory system (2)/for dispatch and movement of trains. (3)/ No error (4)
Options :

1. ® The paper promises a transparent

2. #® and non-discriminatory system

3. # for dispatch and movement of trains.

4. ¥ No error



Question Number : 165 Question Id : 2752285189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Despite of some positive trends, (1)/ India’s forests continue (2)/ to present a cause for concern. (3)/ No error (4)
Options :

1. ¥ Despite of some positive trends,

2. # India’s forests continue

3. % to present a cause for concern.

4. % No error

Question Number : 165 Question Id : 2752285189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Despite of some positive trends, (1)/ India’s forests continue (2)/ to present a cause for concern. (3)/ No error (4)
Options :

1. ¥ Despite of some positive trends,

2. # India’s forests continue

3. % to present a cause for concern.

4. # No error

Question Number : 166 Question Id : 2752285190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

He must has changed clothes during the night.
Options :

1. ¥ have changed

2. # did changed



3. # had change

4. ¥ No Improvement

Question Number : 166 Question Id : 2752285190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

He must has changed clothes during the night.
Options :

1. ¥ have changed

2. # did changed

3. # had change

4. ¥ No Improvement

Question Number : 167 Question Id : 2752285191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

A few minutes latter the eldest sister came out with a pale hard face.

Options :

1. # latter the oldest
2. ¥ later the eldest
3. # beyond the elder

4. ¥ No Improvement

Question Number : 167 Question Id : 2752285191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No



improvement.

A few minutes latter the eldest sister came out with a pale hard face.
Options :

1. # latter the oldest

2. ¥ later the eldest

3. # beyond the elder

4. ¥ No Improvement

Question Number : 168 Question Id : 2752285192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Jamie wrote another letter to the little girls yesterday.
Options :

1. * had written another

2. ® written another

3. ® wrote other

4. ¥ No Improvement

Question Number : 168 Question Id : 2752285192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Jamie wrote another letter to the little girls yesterday.
Options :

1. # had written another

2. # written another

3. % wrote other

4. ¥ No Improvement



Question Number : 169 Question Id : 2752285193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

She is so near to me that it almost seems indelicate of speak to her.
Options :

1. # to speak from

2. ¥ to speak of

3. # from speaking to

4. ¥ No Improvement

Question Number : 169 Question Id : 2752285193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

She is so near to me that it almost seems indelicate of speak to her.
Options :

1. # to speak from

2. ¥ to speak of

3. # from speaking to

4. ¥ No Improvement

Question Number : 170 Question Id : 2752285194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

I was awoke by the gunshot and both of us drove the roads around the perimeter of the property.



Options :

1. ¥ was awoken by
2. # were awoke from
3. % was awoke of

4. ¥ No Improvement

Question Number : 170 Question Id : 2752285194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

I was awoke by the gunshot and both of us drove the roads around the perimeter of the property.
Options :

1. ¥ was awoken by

2. # were awoke from

3. % was awoke of

4. % No Improvement

Question Number : 171 Question Id : 2752285195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Our relationship brings out the best and sadly the worst in us.
Options :

1. * integral

2. # interim

3. ¥ intimate

4. % intern

Question Number : 171 Question Id : 2752285195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Our relationship brings out the best and sadly the worst in us.
Options :

1. # integral

2. # interim

3. ¥ intimate

4. % intern

Question Number : 172 Question Id : 2752285196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Neither the bowl nor the serving spoon on that shelf.
Options :

1. # go

2. # gone

3. % get

4. ¥ goes

Question Number : 172 Question Id : 2752285196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Neither the bowl nor the serving spoon on that shelf.
Options :

1. # go

2. % gone

3. % get

4. ¥ goes



Question Number : 173 Question Id : 2752285197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I didn’t have to sleep for the night.
Options :

1. # somewhere

2. # anywhere

3. % somewhat

4. ¥ anything

Question Number : 173 Question Id : 2752285197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I didn’t have to sleep for the night.
Options :

1. # somewhere

2. % anywhere

3. % somewhat

4. ¥ anything

Question Number : 174 Question Id : 2752285198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The passengers escaped after a bus caught fire.
Options :
1. % stoutly



2. ¥ unscathed
3. % broadly
4. ® violently

Question Number : 174 Question Id : 2752285198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The passengers escaped after a bus caught fire.
Options :

1. # stoutly

2. ¥ unscathed

3. % broadly

4. % violently

Question Number : 175 Question Id : 2752285199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

You’re doing a good job, without training.
Options :

1. # though

2. % yet

3. ¥ even

4. % but

Question Number : 175 Question Id : 2752285199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.



You’re doing a good job, without training.
Options :

1. # though

2. % yet

3. ¥ even

4. % but

Question Number : 176 Question Id : 2752285200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Butterscotch in its

P: yellow drops or disks individually
Q: as translucent, rich

R: hard form is typically marketed
S: wrapped in cellophane

Options :

1. # SQPR
2. % RPSQ
3. ¥ RQPS
4. ¥ SQRP

Question Number : 176 Question Id : 2752285200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Butterscotch in its

P: yellow drops or disks individually
Q: as translucent, rich

R: hard form is typically marketed
S: wrapped in cellophane

Options :
1. % SQPR



2. % RPSQ
3. ¥ RQPS
4. % SQRP

Question Number : 177 Question Id : 2752285201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: are designed to be read as a narrative

Q: or a chronological sequence

R: comic strip is a series of adjacent

S: drawn images, usually arranged horizontally, that

Options :

1. # QPRS
2. ¥ RSPQ
3. % QRPS
4. % SRQP

Question Number : 177 Question Id : 2752285201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: are designed to be read as a narrative

Q: or a chronological sequence

R: comic strip is a series of adjacent

S: drawn images, usually arranged horizontally, that

Options :

1. # QPRS
2. ¥ RSPQ
3. % QRPS
4. % SRQP



Question Number : 178 Question Id : 2752285202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: three or four at a time

Q: bats bear live young, usually

R: only one, although some species
S: can have up to

Options :

1. ¥ RPSQ
2. % QRSP
3. * PRSQ
4. % RQSP

Question Number : 178 Question Id : 2752285202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: three or four at a time

Q: bats bear live young, usually

R: only one, although some species
S: can have up to

Options :

1. ¥ RPSQ
2. % QRSP
3. * PRSQ
4. % RQSP

Question Number : 179 Question Id : 2752285203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.



Smash
Options :
1. ¥ Crush
2. # Flex
3. % Ditch
4. #® Dole

Question Number : 179 Question Id : 2752285203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Smash
Options :
1. ¥ Crush
2. % Flex
3. # Ditch
4. # Dole

Question Number : 180 Question Id : 2752285204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Ecstatic
Options :

1. # Amused
2. ¥ Happy
3. # Raring
4. % Angry

Question Number : 180 Question Id : 2752285204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Ecstatic
Options :
1. ® Amused
2. % Happy
3. * Raring
4. % Angry
General English2
Group Number : 10
Group Id : 275228172
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General English2
Section Id : 275228274
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 275228328
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 2752285205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Facile

Options :

1. * Toilsome
2. * Penetrant
3. % Superficial

4. % Recondite

Question Number : 181 Question Id : 2752285205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Facile

Options :

1. * Toilsome
2. * Penetrant
3. ¥ Superficial

4. % Recondite

Question Number : 182 Question Id : 2752285206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.



Boisterous
Options :

1. # Frisky

2. # Egregious
3. ¥ Phlegmatic
4. # Ebullient

Question Number : 182 Question Id
Orientation : Vertical

: 2752285206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Boisterous
Options :

1. # Frisky

2. # Egregious
3. % Phlegmatic
4. # Ebullient

Question Number : 183 Question Id
Orientation : Vertical

: 2752285207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Libel
Options :

1. # Abide
2. ¥ Flattery
3. % Bloat
4. % Boast

Question Number : 183 Question Id

: 2752285207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Libel
Options :

1. % Abide
2. ¥ Flattery
3. % Bloat
4. ¥ Boast

Question Number : 184 Question Id : 2752285208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Abnegate
Options :
1. # Cede
2. ¥ Secize
3. # Exile

4. # Supervise

Question Number : 184 Question Id : 2752285208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Abnegate
Options :
1. # Cede
2. ¥ Seize
3. % Exile



4. ® Supervise

Question Number : 185 Question Id : 2752285209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Arrested

2. # Arested

3. % Aressted

4. # Arressted

Question Number : 185 Question Id : 2752285209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Arrested

2. # Arested

3. % Aressted

4. % Arressted

Question Number : 186 Question Id : 2752285210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Vegetarian

2. % Vegietarian

3. ¥ Vegitarian

4. % Vegiterian



Question Number : 186 Question Id : 2752285210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Vegetarian

2. ® Vegietarian

3. ¥ Vegitarian

4. ® Vegiterian

Question Number : 187 Question Id : 2752285211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Refferring

2. ¥ Referring

3. # Refering

4. % Reffering

Question Number : 187 Question Id : 2752285211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Refferring

2. ¥ Referring

3. % Refering

4. # Reffering

Question Number : 188 Question Id : 2752285212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Commisioner

2. # Comissioner

3. % Commissioner

4, % Commissionr

Question Number : 188 Question Id : 2752285212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Commisioner

2. # Comissioner

3. % Commissioner

4. % Commissionr

Question Number : 189 Question Id : 2752285213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To hold one’s horses

Options :

1. #* To take the responsibility
2. % To restrain oneself

3. % To appease

4. % To hold no grudge

Question Number : 189 Question Id : 2752285213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To hold one’s horses

Options :

1. # To take the responsibility
2. ¥ To restrain oneself

3. % To appease

4. # To hold no grudge

Question Number : 190 Question Id : 2752285214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

On the spur of the moment
Options :

1. # Momentary

2. # Regularly

3. % Impulsively

4. ® Carefully

Question Number : 190 Question Id : 2752285214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

On the spur of the moment
Options :

1. #* Momentary

2. % Regularly

3. ¥ Impulsively

4. % Carefully



Question Number : 191 Question Id : 2752285215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

French leave

Options :

1. # Short leave from work

2. # Leave for language learning
3. % Abandon a place

4. ¥ Absence without permission

Question Number : 191 Question Id : 2752285215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

French leave

Options :

1. # Short leave from work

2. % Leave for language learning
3. % Abandon a place

4. ¥ Absence without permission

Question Number : 192 Question Id : 2752285216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

The art of preserving skin of vertebrates
Options :

1. % Economy



2. ®* Leaver
3. ® Mount
4. ¥ Taxidermy

Question Number : 192 Question Id : 2752285216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

The art of preserving skin of vertebrates
Options :

1. #* Economy

2. % Leaver

3. % Mount

4. ¥ Taxidermy

Question Number : 193 Question Id : 2752285217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A tank where fishes are kept
Options :

1. ¥ Apiary

2. % Aviary

3. ¥ Aquarium

4. % Sanatorium

Question Number : 193 Question Id : 2752285217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.



A tank where fishes are kept
Options :

1. ¥ Apiary

2. % Aviary

3. ¥ Aquarium

4. % Sanatorium

Question Number : 194 Question Id : 2752285218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

The art of making fireworks
Options :

1. # Pageant

2. % Acrobatics

3. % Pyrotechnics

4, % Arsonist

Question Number : 194 Question Id : 2752285218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

The art of making fireworks
Options :

1. # Pageant

2. % Acrobatics

3. % Pyrotechnics

4. % Arsonist

Question Number : 195 Question Id : 2752285219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A collection of slaves
Options :

1. ¥ Coffle

2. % Company

3. % Crew

4. % Cortege

Question Number : 195 Question Id : 2752285219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A collection of slaves
Options :

1. ¥ Coffle

2. % Company

3. % Crew

4. # Cortege

Sub-Section Number : 2
Sub-Section Id : 275228329
Question Shuffling Allowed : Yes

Question Id : 2752285220 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

Read the following information carefully and answer the given questions.

A Sage was passing through the capital city of the famous king. While he was walking, he noticed a single currency coin on the road. He picked
it up. He was satisfied with his simple living and he had no use of that coin. So, he planned to donate it to the one who is in need of it. He strolled
around the streets throughout the day but didn’t find anyone such. Finally, he reached the rest area and spent a night there.

Next morning, he wakes up in the morning for his daily activities and sees that a king is going for his invasion of another state with his war ready



army. When the king saw the sage standing, he ordered his army to be stopped. He came to the Sage and said, “Oh Great Sage, | am going to war
to win another state so that my state can be expanded. So bless me to be victorious”.

After thinking, Sage gave a single currency coin to the king! The king was confused and annoyed with this because what use he has for a single
coin while he is already one of the richest kings! He curiously asked a sage, “what’s the meaning of this one coin?”

A Sage explained, “Oh Great King! I found this coin yesterday while strolling around the streets of your capital city. But I had no use of it. So, I
had decided that I will donate it to someone needy. I strolled around till the evening in your capital but found no one such. Everyone was living a
happy life. It seemed that they were satisfied with what they had. So I found no one to give this coin. But today, the king of this state, still have
the desire to gain more and not satisfied with what he already has, I felt you were in need of this coin.”

Sub questions

Question Number : 196 Question Id : 2752285221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. ¥ The Needy King and A Sage

2. # The Greedy Queen

3. # A single currency coin

4. % A Mighty Sage and A Brave King

Question Number : 197 Question Id : 2752285222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why the sage has given the single currency coin to the king?

Options :

1. * Because the king was asking for his blessing, so the sage gave single currency coin to him.
2. ¥ Because the king had desire to acquire more wealth and seemed less satisfied to him.

3. # Because the sage found no one in king’s reign worthy of that coin.

4. % Because everybody was happy with their life except the king.

Question Number : 198 Question Id : 2752285223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the synonym of the word ‘stroll’ as per the context of the passage?



Options :

1. % Tramp
2. % Vigilant
3. ¥ Roam
4. ¥ Run

Question Number : 199 Question Id : 2752285224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What style of writing is followed in the given passage?
Options :

1. % Expository

2. # Descriptive

3. # Persuasive

4. ¥ Narrative

Question Number : 200 Question Id : 2752285225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What conclusion can be drawn from the given passage?

I. We all should learn to be happy with what we have.
II. Do not always compare, be happy and lead a healthy life.

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand Il
4. ® Neither I nor II

Question Id : 2752285220 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (196 to 200)

Read the following information carefully and answer the given questions.



A Sage was passing through the capital city of the famous king. While he was walking, he noticed a single currency coin on the road. He picked
it up. He was satisfied with his simple living and he had no use of that coin. So, he planned to donate it to the one who is in need of it. He strolled
around the streets throughout the day but didn’t find anyone such. Finally, he reached the rest area and spent a night there.

Next morning, he wakes up in the morning for his daily activities and sees that a king is going for his invasion of another state with his war ready
army. When the king saw the sage standing, he ordered his army to be stopped. He came to the Sage and said, “Oh Great Sage, I am going to war
to win another state so that my state can be expanded. So bless me to be victorious”.

After thinking, Sage gave a single currency coin to the king! The king was confused and annoyed with this because what use he has for a single
coin while he is already one of the richest kings! He curiously asked a sage, “what’s the meaning of this one coin?”

A Sage explained, “Oh Great King! I found this coin yesterday while strolling around the streets of your capital city. But I had no use of it. So, I
had decided that I will donate it to someone needy. I strolled around till the evening in your capital but found no one such. Everyone was living a
happy life. It seemed that they were satisfied with what they had. So I found no one to give this coin. But today, the king of this state, still have
the desire to gain more and not satisfied with what he already has, I felt you were in need of this coin.”

Sub questions

Question Number : 196 Question Id : 2752285221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. ¥ The Needy King and A Sage

2. # The Greedy Queen

3. # A single currency coin

4. ¥ A Mighty Sage and A Brave King

Question Number : 197 Question Id : 2752285222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why the sage has given the single currency coin to the king?

Options :

1. ¥ Because the king was asking for his blessing, so the sage gave single currency coin to him.
2. ¥ Because the king had desire to acquire more wealth and seemed less satisfied to him.

3. % Because the sage found no one in king’s reign worthy of that coin.

4. ® Because everybody was happy with their life except the king.



Question Number : 198 Question Id : 2752285223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the synonym of the word ‘stroll’ as per the context of the passage?
Options :

1. # Tramp

2. % Vigilant

3. % Roam

4. % Run

Question Number : 199 Question Id : 2752285224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What style of writing is followed in the given passage?
Options :

1. # Expository

2. % Descriptive

3. % Persuasive

4. ¥ Narrative

Question Number : 200 Question Id : 2752285225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What conclusion can be drawn from the given passage?

I. We all should learn to be happy with what we have.
II. Do not always compare, be happy and lead a healthy life.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II



